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HVA/HA1A/CHA1A/HBAA/HB1A/
CHB1A/HC1A/CHC1A/HD1A/
CHDI1A|

B.A., B.L. (Hons.!!B.A.l LL.B. (Hons)/B.Com.,B.L. (Hons.)/

Time : 24

1. Answer TWO of the following in about 500 words each.

(a)
)

. ©

B.Com.,LL.B.(Hons.)/B.B.A,,LL.B.(Hons.)/B.C.A., LL.B.(Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2018)
TFirst Year — First Semester
ENGLISH -1

hours Maximum : 70 marks

PART A — (2 X 10 = 20 marks)
i

Critically analyse Bacon's ‘Of Truth’ and his moral idealism.

Give an account of the struggle between liberty and authority in
the ancient past and during Mill's time.

Explain the best methods of study as enunciated by Glanville
Williams.

PART B — (5 x 3 = 15 marks)

2. Annotate FIVE of the following.

@
; (b)

(©)
(d)

(e)
®

(g

The hrave men, living and dead, who struggle here, have consecrated
it, far above our poor power to add or detract.

Some students who have studied English history may be able to
recollect the order of the dates of the king and queens of England.

Tarry, Jew : The law hath yet another hold on you.

“I beg your pardon, madam”, interrupted Lawyer Gooch, with some
impatience.

Under a government which imprisons any unjustly , the true place
for a just man is also a prison.

Truth may perhaps come to the price of a pearl, that showeth best
by day;

The second point that I want to make on the president's address 18

about the three cardinal principles.

[P.T.0]




PART C — (20 marks)

LINGUISTICS
3. Answer TWO of the following in about 250 words each. (2 x 5=10)
() Narrate the growth and development of English language during
the Middle English perlod

(b) Explain how language becomes an important tool in the
development of human civilization.

(¢ Define semantics and etymology.
PHONETICS (10 Marks)

4. Answer THREE of the following : (38 x2=6)
(a) List out the speech sounds.

(b) Define Diphthongs with examples.
() What is meant by accent and Rhythm? ;
(d) List out the theories relating to origin of languages.

5. Transcribe the following sentences : (2x2=4)
() The caris near the tree.

() Can you open the door?
PART D — (15 marks)

GRAMMAR
6. Make sentences using the pairs of words given below : Bx1=05)
> (a) Accept-Except
(b) Canon-Cannon
(c) Eminent-Imminent
(d) Metal-Mettle
(e) Fain-Feign.
7 Frame sentences using the 1dioms given below : (5%x1=15)

(a) To be on alert.

() To put one's foot 1n.

(¢c) Tokeep in the dark.

(d) To burn the candle at both the ends.

(¢) Thorn in one's side.

2 H 1649




10.

11.

Give synonyms for the words given below :

(a) Endure
(b) Hilarious.

Give Antonyms for the words given below :

(a) Leave
(b) Whole.

Form words using prefix or suffix :
(a) Mis
(b) tion.

Rewrite the sentences :

@x L =1)
@ x 1 =1)
@x 3 =1)
@2x1=2)

(a) She said, “Nobody can solve the problem”. (Into Indirect sentence)
(b) He said that nobody could solve the problem. (Into direct sentence)

i
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Register No.

| 2 - H 1623 - © HVE/HALE/CHALE/
: B T62 - HBAE/HB1E/ACHB1E/
' HC1E/CHC1E/HD1E/CHDIE

B.A., B.L.(Hons.)/B.A.LL.B(Hons.)/B.Com., B.L. (Hons.)/B.Com.,L.LL.B,
(Hons.)/ B.BAALL.B.(Hons.)/B.C.A.LL.B.(Hons.) DEGREE
(SEMESTER) EXAMINATIONS,

NOVEMBER 2018.

- (For the candidates admitted from 2011 to 2018)
First Year — First Semester
CONTRACTS -1
Time : 21 hours 2z Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. " “An acceptance to be effective must be communicated to the offeror” —
Discuss with special reference to communication of offer.

2. Insufficiency of consideration is immaterial; but an agreement without
consideration is void”’— Discuss.

3. Discuss with decided case laws the law relating to validity of contracts
e by minors.

PART B — {2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. “A mere silence as to facts is not fraud”— Explain this _statemenﬁ with
dectded cases. :

5.  “An agreement in restraint of trade is void”’- Explain ana state the :
exceptions.

6. Describe the circumstances in which a party to a contract is entitled to
specific performance. : '

[P.T.0] -




~ PART C — (5 x 4 = 20 marks) |
Write short notes on FIVE of th.e folloWi’ng :
(a) Damages.
(b) Doctrine of frustration.
(cy Time as an essence of contract.
(d) Joint liabilities.
(e) Voidable contract.
() Coercion and duress.

(g) Perpetual injunction.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

and decided cases. Give cogent reasons. i

‘¢ sent his servant ‘L’ to trace his missing nephew. He then announced
that anybody who traced his nephew would be entitled to a certain
reward, L’ ‘traced the boy in -ignorance of this announcemaent,
subsequently when he came to know of the reward he clalmed it. Decide
whether ‘L is entitled to the reward.

‘A’ promises to drop prosecution, which he has instituted against ‘R’ for
robbery and ‘R’ promises to restore the value of things taken. Can ‘A
enforce this promise.

A music hall was agreed to be let out on certain dates for a programme
but before those dates it was destroyed by fire. Decide whether the
promisor is absolved from performing the contract

2 | ~ H 1623
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Register No.

; H 1621 = [TIVB/HALB/CHAIB

B.A.,B.L. (Hons.)/B.A, L1.B, (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2018)
First Year -—— First Semester :

HISTORY - I (HVB) -- B.A., B.L. (Hons.) -
HISTORY (HA1B/CHA1B) - B.A., LL.B. ({ons.)

Time : 24 hours = Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
. : i
Answer TWO of the following in about 500 words each.

°E Bﬁng forth the significant features of Indus Valley civilization.
2.  Explain the administrative system of Mughal Er'npire.
3. Analyse the economic impact of British rule in Indié.
PART B — (2 x 7= 14 marks)
Answer TWO of ‘the'following in about 300 words each.

Me.ntion in detail the four Ashramas of‘the Vedic period.

Oty

What ars tlie teachings of Mahavir?
6. Write about Arya Samaj.
PART C —(5x4=20 marks}

7. Write short notes on FIVE of the following :
(a) Vishistadvaita

(b) Mahajanapadas
~ IEdicts of Ashoka

Ministers under Delhi Sultanate

[P.T.0]
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(e)
@
(8

Answer SIX of the following very briefly.

(a)
(b)
()
(d)
(e)
®
(e)
(R

Jarokha Darshan
Greased Cartridges

Justice Party.

PART D — (6 x 2 = 12 marks)

Upanishads

Upa vedas

Guilds

Dharmasastras

Two sects of Buddhism
Simon Commission
Jallianwala Bagh Massacre

Satya Shodak Samaj.

H 1621




H 1651

Register No. —I

HVF/HA2A/CHA2A

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)

e s

EXAMINATIONS, NOVEMBER 2018.
(For the candidates admitted from 2011 to 2017)

First Year — Second Semester

ENGLISH — II

hours Maximum : 70 marks

PART I (2 x 10 = 20 marks)

1. Answer TWO of the following :

(a)

(b)
(c)

Elucidate the importance of moots and mock trials for law
students.

Discuss Gandhi’s reasons for pleading for the severest penalty.

Analyse Aristotle’s deliberations on virtues and vices.

PART IT — (5 x 3 = 15 marks)

2. Annotate FIVE of the following :

(a)

(c)
(d)
()
®

For a generation the law schools have been trying to learn how to
teach these subjects.

My Lords, 1t 1s irom Anderton’s Hotel, and it is addressed by the
witness to Archbishop Walsh.

“Prelixity i one of the worst qualities of style”.
Advocacy 1s the most intensive work a lawyer is called on to do.
I was wandering about the fields ... Neither eating nor drinking.

My first contact with British authority in that country was not of a
happy character.

Begin your address to the court by stating quite bri.fly what you
wish to show.

P.T.O]
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PART IIT — (2x 5=10 marks)

3 Answer TWO of the following :
(a) Discuss the role of mother tongue in language learning. \
(b) Explain TLaw of Interference’ and ‘Law of Exercise’.

(¢) Analyse the role of teachers in language acquisition.
PARTIV—(Bx5=15 marks)

LOGIC — (2x 5=10 marks)
4. (2) Explain the rules of Syllogism.
Or
(b) Define logic and discuss its importance for law students.

5 Bring out the fallacy in ONE of the following syllogisms
(a) No women candidates are successful.

All women candidates are athletes

- No athletes are guccessful.

Or
(b) All monkeys are mortal.
All donkeys are mortal.
. All monkeys are donkeys.

LETTER WRITING — (6 marks)

6. Write a complaint to the appropriate authority on the problen of bad
condition of the roads in yous ared.

PART V — (10x1=10 maris)
7 TJse TEN legal terms in sentences :
(a) Estoppel
() Trespass
{(¢) Consen®
(d) tiabeas Corpus

(e) De facto

2 _ H 1651
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()
(h)
Y
0)
(k)
Y

Amendment
Adjudication
Bona-fide
Injunction
Approver
Fraud

Coercion.

H 1651



Register No.

» H 1652 HVH/HA1C/CHAILC

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2018)
B.A., B.L. (Hons.) First Year — Second Semester (HVH)
B.A. LL.B. (Hons.) First Year — First Semester (ITA1C/CHA1C)
SOCIOLOGY —1

Time : 24 hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
1. Explain the various agencies of social control with examples.
2. Discuss the origin, development and scope of sociology.

3.  Analyse the effect of westernization in Indian culture.
7 PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each. |
4.  Define kinship and cxplain the various kinship terminology.
5.  Explain the various types of mobility.
6. FExamine the contributions made by Herbert Spencer.
PART C — (& x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Social stratification.
(b) Types of deviance.
(¢) Role of culture in socialization.
(@) Cultural lag.
() Relationship between Sociology and Anthropology
(H) Types of marriage.

(g) Stages of socialization.

[P.T.0]




PART D — (6 x 2 =12 marks)

8 Answer SIX of the following very briefly :
(a) Case study method.
(b) Estate system.
(c) Monogamy.
(@) Social control.
(e) Reference groups.
@  Culture.
(g) Non-sororal polygyny.
(h) Class System.

2. H 1652




Register No.

?’ H 1625 HVI!H;;{Z’;A(I}I-IAzBI

B.A.,B.L., (Hons.)/B.A.LL.B. (Hons.)/ B.Com.,B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2017)

First Year — Second Semester

POLITICAL SCIENCE — I (POLITICAL THEORY)

Time : 2% hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “History without political science has no fruit and political science
without history has no root”. Analyse critically.

2. Describe the Marxist approach to the study of political science.
Explam the social contract theory of origin of state.
J PART B — (2 x 7= 14 marks)
Answer TWO of fhe following in about 300 words each. l
4.  Evaluate Austin’s theory of sovereignty.
5. “Rights and duties are correlative” — Comment.
6.  Critically analyse the Islamic political thought.
PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the ovilowing :
(a) Merits and demerits of democracy.
(b) Parliamentary form of government.
(¢) DBicameral Legislature.
(d) Merits and demerits of dictatorship.
(¢) Marxian Political Thought.
() Legal and Political thought.
Theories of rights.

[P.T.O]
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PARTD —(6x2= 12 marks)

g. Answer SIXof the following very briefly :
(a) Sociology. e
(b) Modern approach to the study of political science.
{c) Matriarchal theory.
(1) Liberalism.
(e) Justice.

(f) Role of law in governance.

(g) Political parties.
(h) Federalism.

T
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Register No.

! H 1624 HVG/HA2C/CHA2C/HBAB/
! HB2D/CHB2D/HC2D/
4 CHC2D/HD2D/CHD2D

B.A., B.LL (Hons.)/B.A., LL.B. (Hons.)/B.Com., B.L. (Hons.)/B.Com., LL.B
(Hons.)/B.B.A., LL.B. (Hons.)/B.C.A., LL.B. (Hons.) DEGREE
: : (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted from 2011 to 2017)
First Year — First Semester/Second Semester

HISTORY II - (HVG) -
LEGAL AND CONSTITUTIONAL HISTORY
(HA2C/CHA2C/HBAB/HB2D/CHB2D/HC2D/CHC2D/HD2D/CHD2D)

Time : 2% hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Trace the admiﬁistratibn of justice in Madras and Calcutta between
1600-1726. :

2..  Discuss the judicial measures of Cornwallis.

e .

- Bring out the Significant features of the Minto-Morley Reforms.
| PART B — (2'x 7= 14 marks)
Answer TWO of the following in about 300 words each.

e Explain Mayor's Court Act of 1728,

i Examine the development of rule of law.

6. Discuss the ‘si-gnificance of the Pitts India Act.

‘ PART C — (5 x 4 =20 marks) - - -

7. Write short notes on. FIVE of the following :
(a) Se_ttlement Act of 1781.

(b) Dual system of administration of justice.

[P.T.0.]
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)
0
(2)

Charter Act of 1813.

‘The Government of India Aet 1858.

Patna Case.
History of law reporting.

Separation of powers.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(@)
(b)
(©
(d)
(e)
®
()
(h)

Kannappa Adigalar.

Black Town.

Abolition of jurisdiction of Privy Council.
Cossijurah Case.

Warren Hastings.

Power of Governor — General.

1661 Charter.

Ethics for Advocates.

H 1624




Register No.

. ¥ H 1626 : HVJ/HA2E/CHA2E/HBAJ/HB2E/
CHB2E/HC2E/CHC2E/HD2E/CHD2E

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com., B.L. (Hons.)/B.Com.
LL.B. (Hons.)/B.B.A., LL.B. (Hons.)/ B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2018.

First Year — Second Semester
(For the candidates admitted from 2011 to 2017)
CONTRACTS — 11

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words eagh.

1. Explain the concept of ratification of an agency contract.

9. State the application of the doctrine of holding out in the case of a minor
partner. '

3.  Discuss the impact of any variance made by the debtor and the creditor
Y in a Contract of Guarantee. : '

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

;l State the various exceptions to the principle of “Caveat emptor”.
5. Discuss 'delegatus non potest delegare’ with exceptions.
6. State the various advantages and disadvantages of registration of

partnership firm.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :

(a) Termination of Bailment |

(b) Finder of Lost Goods

(¢) Indemnity and Guarantee

(d) Conditions and Warranties

(e) Hire Purchase Agreement

(f) Buyer in Possession

(g) Duties of Pawnee.

] ' [P.T.0]




PART D - - (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A contracts with B for a fixed price to build a house for B within six
months and C agrees to be the surety. Later on A and B change the plan
for construction. Decide the liability of | Bt

“A" buys goods from “B” but does not take delivery of goods due to
constraints in transportation facility. In the meantime “B” pledges the
goods to “C°. “A” sends a notice to “C” for challenging the legal
possession of the goods. Decide the rights and liabilities of ~E

“A” acts as an agent for “B” but does not disclose the fact that “B” is the
principal, to anyone. During the course of agency “A” injures a third
party. “A” refuses to compensate or pay damages to the third party on
the ground that he was an agent of an unknown person. The third party
demand “A” to disclose the principal or accept the payment of damages.
Decide the rights and liabilities of “A”. J

2 H 1626
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Register No.

H 1655 HXB/HA2D/CHAZ2D/HBCC/
HB3C/CHB3C/HC3C/
CHC3C/HD3C/CHD3C

B.A., B.L. (Hons.)/ B.A,, LL.B. (Hons.)/B.Com., B.L. (Hons.)/ B.Coﬂl.,
LL.B. (Hons.)/B.B.A., LL.B. (Hons)/ B.C.A., LL.B. (Hons) DEGREE
(Semester) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2017)

B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) — Third Year —- Fifth Semester — HXB/HBCC/
B.A., LL.B. (Hons.) — First Year — Second Semester — HA2D/CHA2D/
B.Com., LL.B. (Hons.)/B.B.A., LL.B. (Hons)/B.C.A., LL.B. (Hons) — Second Year —
Third Semester/ HB3C/CHB3C/HC3C/CHC3C/HD3C/CHD3C

LAW OF CRIMES - I (INDIAN PENAL CODE)
z ‘

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

# 1. Explain the fundamental principle of criminal liability as embodied in
the maxim “Actus non facit reum, nisi mens sit rea”.

2. Culpable homicide is the genus while murder 1s its species — Justify.
Define abetment, and discuss in detail the liability of an abettor.
PART B — (2 x 7 = 14 marks)
% Answer TWO of the following in about 300 words each.
— 4. How far is insanity a defence to criminal liability?
What are the essential ingredients of criminal conspiracy?
Define the term rape. What are the recent legislative changes?
| PART C — (5 x 4 = 20 marks)
Write short notes an FIVE of the following :
(a) Deterrent Theory
(b) Preparation

(¢) Offences against election
(d) Assault
[P.T.O]




(e) Theft
() Defamation
() Adultery
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of Law

10.

and decided cases. Give cogent reasons.

Mr. ‘S’ purchases poison with the intention of murdering Mr. R’ and
mixes the same with the food and places it on Mr.. R’s table. But R's son
X consumes the food. Decide whether Mr. ‘S’ has committed any

offence.

R’ threatens Y that unless Y signs the paper, he will kill his wife.
Decide whether ‘R’ has committed any offence.

A, B, C, D and E committed an offence of robbery. They were prosecuted
and tried. B, C. and D were acquitted by the trial court. Discuss the
liability of A and E.

2 - H 1655
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Register No.

H 1627 HWA/HA3B/CHA3B

B.A., B.L. (Hons.) / B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2017)
Second Year — Third Semester

POLITICAL SCIENCE II — STATE AND POLITICAL OBLIGATIONS
Time : 21 hours : : Maximum : 70 marks
PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Critically analyse T.H. Green's views on Political Obligation.
2. Write an essay about Locke's Social Contract Theory.
3. Examine the contemporary developments on Political Obligation.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Examine the Naturé of Authority in a State.
5. Evaluate the Political Obligation under the Constitution of India.

6. Analyse Utilitarian theory of Political Obligation.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Anarchist theory. ;
(b) Moral foundations of Political Obligation.
(¢) Membership and Political Obligation.
(d) Upendra Baxi and Indian Prison System.
() Hobbes.
() Joseph Raz views on Justice.

(g) Role of state in bélancing Political Obligations.

[P.T.0]




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

()
(b)
(©
(d)
(e)
)
(2)
(h)

John Horton.

Ernest Barker.

Voluntarism.

Legal and Political Obligations.

Rousseau's contribution to Political Obhgatmn

Philosophical foundations of Political Obligation.

Political Obligation and consent.

Preamble of the Constitution of India.

H 1627
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Register No.

H 1653 HWC/HASC/CHA3C/HBBC

B.A., B.L. (Hons.)/B.A. LL.B. (HHons.)/B.Com., B.L. (Hons) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2017)
Second Year — Third Semester

ECONOMICS -1
(GENERAL PRINCIPLES OF ECONOMICS)

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 wordsgeach.
1. Derive demand curve with the help of indifference curve approach.

2. Analyse the characteristics of good tax system and point out the kinds of
tax.

Establish general equilibrium with the help of IS-LM functions. And
state the corrective measures, -

——— ‘i{("‘
[N}

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

» 4. Define National Income. And explain the circular-flow of National
Income.

5. Explain the functions of RBI.
8. Critically examine the purchasing power parity theory of exchange rate.
PART C — (56 x 4 = 20 marks)

7.  Write shori notes on FIVE of the following :
(a) Objectives of Fiscal policy
(b) Liguidity — Trap
(¢) Marginal productivity theory of rent '

r [P.T.0]




(d) Sources of public revenue
(¢) Net barter terms of trade
(f) Elasticity of Demand

(g) Laws of returns to acale.
PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :
(a) MRS

) VMPy,

(¢) Monopoly

(d) ° Price rigidity

() Full employment

(f) Incidence of tax

(g) Public debt

(h) IMF.

H 1653




Register No.

H 1629 - | HWD/HA3D/CHASD/HBBD/HB3D/
CHB3D/HC3D/CHC3D/HD3D/CHD3D

B.A., B.L. (Hons.)/B.A.LL.B. (Hons.)/B.Com. B.1. (Hons.)/B.Com.LL.B.
(Hons.)/B.B.A.LL.B. (Hons.)/B.C.A.LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates adniitted from 2011 to 2017)
Second Year — Third Semester
FAMILY LAW-T
Time : 24 hours ' Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words eagh.

1. Explain the importance of the traditional and modern sources of Hindu

. Law.
9 “The marriage under the Special Marriage Act is a Civil marriage by
registration” — Evaluate the above statement by explaining the

conditions, ceremonies and the effect of marriage under the Special

- Marriage Act, 1954.

3.  State the circumstances in which a Mohammedan wife and a Christian
wife can obtain divorce with special reference to statutory provisions.

PART B — (2 x 7= 14 marks)
b Answer TWO of the following in about 300 words each.

4. “Legitimacy should be legally possible for an acknowledgement to be
offéctive” — Discuss the concept of acknowledgement of paternity under
Mohammedan Law.

5. Examine the provisions of the Hindu Minority and Guardianship Act
relating to the powers of a natural guardian.

6. Discuss the procedures to be followed by a Marriage Registrar for
solemnising a Christian marriage.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(2) Restitution of conjugal rights.
(b) Bigamy.

[P.T.0]
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(¢) Lilly Thomas v. Union of India, AIR 2000 SC 1650.
(d) Zibar.

(&) Sources of Muslim Law.

() Khyar-ul-bulugh

(g) Divorce by mutual consent under Christian Law.

PART D — {2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and

10.

decided cases. Give cogent reasons.

A adopts B,- when his only son marries under the Special Marriage Act,
1954. Decide the validity of adoption.

X, a Shia woman, marries a Christian male Y. Is the marriage valid?

Will it make any difference if X is a Sunni woman?

The father of the minor Hindu desires to sell an item pf immovable

property of the minor for the minor’s benefit. Advise the father as to his °

power to sell the minor’s property.

2 H 1629
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Régister No.

H 1628 | HWB/HA3A/CHASA

B.A., B.L. (Hons.)/B.A. LL.E. (Hons) DEGREE (SEMESTER) °
EXAMINATIONS, NOVEMBER 2018. .

(For the candidates admitted from 2011 to 20 17)
Second Year — Third Semester
SOCIOLOGY —II

Time : 2L hours ' Maximum : 70 marks

"PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the various theories of caste system. > ;

2. Discuss in detail the various factors of social change with suitable
illustrations.

3. Bring out a brief historical sketch of the Indian civilization.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about .300 words each.

4; Write a note on the status of women in Ancient Age.
5. Highlight the reasons fér dowry in Indian society.
6. HKxamine the nature of diversities in India.
PART C — (5 x 4 = 20 marks)
7.  Write 'short_notes on FIVE of the follow’irig €
(2) National integration.
() Honour killing.

(c) Social change.

' [P.T.0]
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Answer 'SIX of the following very briefly :
(a)
(b)

(©
(d)
()
®
(2)
(h)

Joint family.
Sociology of law.
Jajmani system‘. :

Prostitt e

PART D — (6 x 2 = 12 marks)

Juvenile delinquency.

- Kacha food.

Racial diversity.
Plural society.

Child labour.

White — collar crirﬁe.
Scheduled tribes..

Divorce.

H 1628
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Register No.

H 1630 HWE/HA3E/CHASE/HBBE/HB3E/
CHB3E/HC3E/CHC3E/HD3E/CHD3E

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com., B.L. (Hons.)/
B.Com. LL.B. (Hons.)/ B.B.A. LL.B. (Hons.) B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 20 17)
Second Year — Third Semesterr
CONSTITUTIONAL LAW -1

Time : 2% hours _ Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words gach.

1.  Describe the meaning and basis of Judicial review and elaborately
discuss the doctrines laid down with respect to pre-constitutional and
post-constitutional laws.

9. “Equality is a dynamic concept with many dimensions and it cannot be
cribbed, cabined and confined within traditional and doctrinaire limits”—
Elaborately discuss the concept of equality and its protection against
arbitrariness.

3. Critically evaluate the freedom of cultural and educational rights
guaranteed under Article 29 and 30 of the Indian Constitution with
decided case laws. . '

PART B — (_2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain the safeguards provided under the Indian Constitution to
persons under preventive detention.

5. “The Preamble of the Indian Constitution guarantees liberty of thought,
belief, faith and worship” — Analyse the statement and how the right to
freedom of religion is guaranteed under the Indian Constitution.

6. The fundamental rights and directive principles constitute the
«Conscience of the Constitution” and they have to supplement each
other — Discuss.

[P.T.O]




PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following.
(o) Citizens by domicile.
() Doctrine of Protective Discrimination.
(¢) Doctrine of Basic Structure.
(d) ‘Right to education.
© Abolition of child labour.
() Creamy layer. _
(g) Definition of State under Article 12.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

[

and decided cases. Give cogent reasons. :

The General Manager, Railways, issued a circular imposing a ban on
holding of meetings or assemblies on the railway premises. Mr. Arun, a

railway employee, was removed from service for addressing a meeting

within the railway premises. Mr. Arun challenged the validity of the
circular issued by Railways as violative of right guaranteed under
Article 19(1)(b). Decide. ;

X’ was taken by police officials relating to an interrogation. Later the
body of X’ was found near the railway track with multiple injuries. The
mother of the deceased files the suit for compensation under Art. 32 of
the Constitution. Is the claim sustainable?

State ‘X’ passes two enactments which contained provisions that
prohibited forcible conversion of one person to another’s religion. The
validity of the enactments were challenged by ‘A’. Decide the case.

g~ ' H 1630
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Register No.

HWF/HA4Af
H 16a] CHA4A/HBBF

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com., B.L. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted from 2011 to 2016)
Second Year — Fourth Semester

(HWF) — B.A., B.L. (Hons.) — (HA4A/CHA4A) — B.A. LL.B. (Hons.) —
. (HBBF) — B.Com., B.L. (Hons.)

POLITICAL SCIENCE — III (INTERNATIONAL RELATIONS)
POLITICAL SCIENCE — IT INTERNATIONAL RELATIONS)

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Define International Relations and examine various theories of
International Relations.

9. FExamine the concept of Globalisation.
3. Critically analyse the causes of World War II.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Define Balance of Power and its various methods.

Examine the role of the U.N. towards world peace.

=L

6. Evaluate the importance of World Public Opinion.
PART C — (6 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Liberalism and International Relations.
(b) Neo-liberalism.

(¢) National Power.

P.T.0]




(d) Armament.
(e) Bi-polar world.
() Total war.

(g) Constructivism.
PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.
(a) Cold war alliances

(b) State

(¢) Concept of regionalism

(d) Berlin Wall

(¢) Unipolar

() Saltl

(g) Types of diplomacy

(h) Human Security.

H 1631
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H 1633 WH/HA4C/CHAAC/
HBRG/HBAC/CHB4C/
HC4C/CHCAC/HDAC/CHDAC

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com., B.L. (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A. LL.B (Hons.)/B.C.A. LL.B (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2016)
Second Year — Fourth Semester
JURISPRUDENCE

Time : 2% hours Maximum : 70 marks

PARTA —(2x12=24 marks)

Answer TWO of the following in about 500 words each.

o a certain type of investigation into
retical nature which

f£1aw and legal system” — Elucidate.

ik “«Jurisprudence is the name given t
law, an investigation of abstract, general and theo

seeks to lay bare principles o
ody of principles recognised and applied by

9 “Law may be defined as the b
Examine.

the state in the administration of justice” —
3. Analyse the interpretation of enacted Law.
PARTB —(2xT7=14 marks)

Answer TWO of the following in about 300 words each.

4 Define liability and discuss various kinds of Liability.

5. Explain Declaratory theory of precedents.

6. Define possession and discuss the nature of possession.

PART C — (5 x 4= 20 marks)

7.  Write short notes on FIVE of the following :

(a) Natural Law
(b) Legal realism

(¢) Local custom

[p.T.0]




10.

(d) Persuasive Precedent
(e) Sole and co-ownership
() Legal status of lower animals . ¥

(g) Original title
PART D — (2 x 6 = 12 marks)

rl-"—*.ﬂ“-“ Lol

Answer TWO of the following referring to.the relevant provisions of law
and decided cases. Give cogent reasons.

A, built a reservoir in his land. Water escaped from the reservoir and
injured B. B approached the court for compensation - Decide.

Road Traffic Act made it an offence to drive a motor vehicle in a manner
dangerous to the public. A person is steering a broken down vehicle on
tow. He met with an accident. Whether he is liable or not?

University of Keeton is a part of Salmond Country. In Salmond Country,
the reservation policy was followed. Reservation policy was not followed
in the University. The affected persons argued that Universfity of Keeton
is a State as defined in Art. 12 of the Constitution. Decide.

2 H 1633
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H 1632 HWG/HA4B/
CHA4B

B.A., B.L. (Hons.)/ B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2016)

Seco-nd_ Year — Fourth Semester

ECONOMICS - IT ANDIAN ECONOMY)

Time : 2% hours < ) Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Critically evaluate Globalization and its impact on Indian Economy.
9.  What are the difficulties of estimating National Income in India?
3. Explain new agricultural-strategy and second generation reforms.
PART B — (2 x 7 = 14 marks)
e : Answer TWO of the following in about 300 words each.

4.  What are the factors responsible for industrial sickness in small scale
and cottage industries?

5. Evaluate the issues and challenges of MGNREGP Scheme.
. 8. Describe different objectives and achievements of planning in India.

PART C — (6 x 4 = 20 marks)
7.  Write short zotes on FIVE of the following :
(a). India as a typical underdeveloped economy
() Role and performance of public sector
(¢) Different kinds of unemployment
(d) Minimum Wages Act
(e) Social security schemes in India

(f) Measurement and magnitude of poverty lire

(g) Integrated Rural Development Programme ™.




PART D — (6 x2=12 marks)

Answer SIX of the following very briefly :

(@)
(b)
(©
(d)
(e)
)
(&)
(h)

Deficit financing

CARDB

Net National Product
PURA

Disguised unemployment
NITT

Demonetization

FEMA

£

2; PORNEENN .
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H 1634 HWI/HA4D/CHA4D/HBBU
HB4AD/CHB4D/IICAD/CHCAD/
HD4D/CHD4D

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com., B.L. (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candid_ates admitted from 2011 to 2016)
Second Year — Fourth Semester

FAMILY LAW — I1
Time : 21 hours : ‘ Maxir‘r;um : 70 marks
‘PART A — (2 ¥ 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. ' Explain the changes mad.e by the Hindu Succession Act, 1956, in regard

to property held by Hindu women and state the principles of lsucce-ssion

to such property under the Act.

2.  Discuss the nature, subject-matter' and the effect of Hiba under Muslim

law.

3. [Explain the law relating to Intestate Succession of a Christian urnder

the Indian Succession Act, 1925.
‘ PARTB —(2x7= iﬁl marks)
Answer TWO of the following in about 300 w?rds gach.
Who is Karta? Explain his rights and dﬁties under Mithakshara law,
Explain th(; law relating to pre-emption under Musiim Taw.

What is probate? To whom could probate be grantad? State the effects of

erant of Probate.

[P.T.0]
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Answer TWO of the following by referring to rele
decided cases. Give cogent reasons.

10.

PART C — (5 x 4= 20 marks)

Write short notes on FIVE of the following :

(a)
(b)
(c)
(d)
(e)

@ -

()

A Hindu female dies leaving b

Coparcenary within a coparcenary.
Re-opening of partition.

Limitations for making Muslim will.
Doctrine of Aul.

Privileged will.

Lapse of Legacy.

Onerous bequest,

PARTD — (2 x 6= 12 marks)

Divide the estate among them.

vant provisions of law and

er mother, father, son and four daughters.

A Tlanafi Muslim dies leaving his widow, mother, son and full brother.
Distribute his estate.

A Christian dies surviving him 'a widow, son an

property.

d mother. Distribute his

H 1634
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H 1635 HWJ/HA4E/CHA4E/HBBJ/
HB4E/CHBAE/HCAE/
CHCA4E/HDAE/CHDAE

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com., B.L. (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A. LL.B (Hons.)! B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018

(For the candidates admitted from 2011 to 2016)
Second Year — Fourth Semester

CONSTITUTIONAL LAW — 11

Time : 21 hours Maximum : 70 marks
2

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Discuss the different kinds of jurisdiction of the Supreme Court of India.

2. “The Constitution provided that the Council of Ministers both in the
=5y centre and in the states shall be collectively responsible to the respective
lower houses” — Discuss. '

3.  “Neither the Union Legislature (Parliament) nor, a, State Legislature
can be said to be ‘Sovereign’ in the legalistic sense, each being limited by
the provisions of the Constitution” — Examine the statement in the light
of distribution of legislative and executive powers.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Examine the dual capacity of Governors of States under the Indian
Constitution,

! 5 Discuss the financial relations between the Union and the States.
;’ Critically assess the role of Finance Commission in this connection.

¥

!

/ 6. * Explain the procedure for election and impeachment of the President of
India.

[P.T.0.]
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PART C — (5 x 4 = 20 marks)

7 Write short notes on FIVE of the following :

(2)
(b)
©
(d)
(e)
@
(g)

Answer TWO of the following by referring to the relevant provisions of law

8 A State Legislature issued a warrant to arrest Mr! Raghavan, a
journalist held guilty of committing contempt of the House. Can the
court question the validity of the warrant?

9 An amendment to the Constitution was made by the Parliament to
validate, with retrospective effect, the election of the Prime Minister
which was set aside by the High Court. Comment upon the validity of

Anti-Defection Law
State Emergency
Planning Commission
Doctrine of Eclipse
State Public Service Commission
Comptroller and Auditor - General of India.
Writ of Mandamus.
PART D — (2 x 6 = 12 marks)

and decided cases. Give cogent reasons.

this amendment. ES |

10. A person’s nomination paper for State Assembly was rejected by the
Returning Officer. He then moved the High Court U/Art. 226 to quash
the order of the Returning Officer and to direct the inclusion of his name
in the lst of valid nominations — Decide.

9 H 1635
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1° H 1636 HXD/HA5SB/CHA5SB

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018. :

(For the candidates admitted from 2011 to 2016)
Third Year — Fifth Semester
HUMAN RIGHTS LAW
Time : 2% hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1 Trace the development of human rights. What is the c;ontribution of
India to human rights?

9 Examine the human rights aspects of Scheduied Castes and Scheduled
Tribes protection in India.

| 3. Evaluate the efficiency of National human rights institutions in
. protecting Human rights in India.

'. PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4 Write a note on “UDHR as a le gal instrument”.
\\"5. Briefly state the constitutional protection to women and children.
é. Who is a refugee? What are the legal safeguards for a refugee in India?
PART C — {5 x 4 = 20 marks)

7 Write short notes on FIVE of the following :

(a) ICCPR

(b) Magna Carta

(¢) Right to self-determination

(1) Genocide

(¢) Right to dignity

(f) Supreme Court on Human Rights
() Rights of disabled.

[EE LN




PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8 Mr. Wilson and his wife are foreigners touring India. They were abused
by a group of policemen. They approach Supreme Court of India. Decide.

9. Mr. Tim and his family borrowed Rs. 50,000 from the landlords of his
village. They were charged with excessive interest rates. The whole

family was forced to work in the field, including his children of 12 years.
An NGO filed a petition in Madras High Court. Decide.

10. In the state of Rathiskar, a communal riot broke out. The state
government did not take up any effective steps to prevent the riots.
Supréme Court takes suo motu cognizance of the case — Decide.

2 H 1636
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Register No.
H 1650 HVC/HASE/CHASE/HBAC/
HB5SE/CHBSE/HCSE/CHCSE/HDSE/
CHD5SE

B.A., B.L., (Hons.YB.A.LL.B. (Hons.)/B.Com., B.L. (Hons.)/B.Com.LL.B.
(Hons.)/B.B.A.LL.B.(Hons.)/B.C.A,,.LL.B, (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2016)
First Year — First Semester/Third Year — Fifth Semester
LEGAL METHODS

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks) g
Answer TWO of the following in about 500 words each.

1. “Legal methods as a subject aims to combine the fundamental
perspectives in law and that of the methodological skills”— Explain.

. 9 Examine the sources of law. Whether judgements are sources of law?
' V 3. Discuss the significance of learning “Judicial methods”.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each,

4.- Explain the role of the Law Commission of India in the context of Legal
\ Reforms.

5. “General Clauses Act is rightly characterized as the legislative
dictionary’— Examine.

6. Explain the components of a synopsis in legal research.
PART C — (6 x 4 = 20 marks)
7. Write short notes on FIVE of the following :

() Textualism and Purposivism
(b) Legal Fiction
{¢) . Data Collection and Analysis

[P.T.0.]




(d) Interview Method

(¢) Principles of Natural Justice
() Law Library

() Logical Reasoning.

PART D — (6 x 2 = 12 marks)

8 Answer SIX of the following very briefly:
(a) Utility of Legal Maxims
(b). Epistemology
{¢) Multi-disciplinary Approach
(@) Plagiarism |
(¢) Public and Private Laws
() Freedom Movement and Law
(g) Definition of Human Rights

i

(h) Sources of International Law.

2 H 1650
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H 1656 HXC/HA5C/CHA5C/HBCD/HB5C/
CHB5C/HC5C/CHC5C/HD5C/CHD5C

B.A., B.L. (Hons.) /BA., LL.B. (Hons.)/B.Com., B.L. (Hons.)/
‘ B.Com., LL.B. (Hons.)/B.B.A., LL.B. (Hons.)/B.C.A., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2018.

Third Year — Fifth Semester
(For the candidates admitted from 2011 to 2016)
PUBLIC INTERNATIONAL LAW

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words edch.
1. “States remain the principal subjects of International Law” — Elucidate.

2. Explain the theories concerned with relationship between International
Law and Municipal Law. Refer to Indian practice.

3. “State Succession is a misnomer in International Law” — Do you agree?
Comment. :

PART B — (2 x 7 = 14 marks)

Answer TWQ of the following in about 300 words each.
4, Explain the rules relating to Interpretation of Treaties.
5. Describe the different modes of acquiring and losing State Territory.

6. Analyse the role of the United Nations Security Council in promoting
peace and security.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(@) Nuremberg Trial.
() Double Nationality.

(¢) Monroe Doctrine.

[P.T.0.]
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(@) Consuls.

() Exclusive Economic Zone.
() Island of Palmas Case.
(g) Rebus sic stantibus.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8. ‘Queensland is a registered ship of state “X’. The ship was engaged by
the state Y for the commercial purpose and it collided with ship ‘Blue
Mountain’, a ship which belongs to state Z, in the mid ocean. State ‘Z’
filed a case against state X. Decide. |

9. Ambassador of state B in state A voluntarily offers assistance of his
country’s Military Intelligence Agency in investigating a bomb blast in
state A. Will this amount to breach of diplomatic privilege?Decide.

10. State ‘N’ seeks extradition of her citizen from state ‘M’ for a murder case
in state ‘N’, while the non-bailable warrant is pending against an FIR.
Can this be a ground for extradition? Decide.

=
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il H 1654 Hix Lok

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2015)
Third Year — Fifth Semester/Sixth Semester

POLITICAL SCIENCE IV — PUBLIC POLICY AND PUBLIC
: ADMINISTRATION

Time : 24 hours : Maximum : 70 marks

: PART A — (2 x 12 = 24 nﬁarks)
- Answer TWO of the following in about 500 words gach.
1. Define public administration and explain POSDCORB View‘.
2.  Enumerate the functions of Chief Executive. |
3. . Explain the imiaortance of the 73 Constitutional Amendment Act.
1 | PART B — (2x7=14marks) - - e
Answer TWO of the followin’grin about 300 words each.
4. Analyse the impact of globalization on Administration.
Examihe the parliamentary control over the executive in India.

6. Explain the importance of Administrative Tribunal.

PART C — (5 x 4 =20 marks)
7. Write short notes on FIVE of the following ¥
(a) Private Administration
(b) Span of Control
(¢) Location of-authority
(d) Publli‘c Enterprises

-[P.T.0]




(e)
®
(8)

Co-ordination
National Rural Employment Guarantee Act

Human Rights.

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©)
(d)
(e)
®
(&)

(h)

Public Policy

Departments

Participative Management:
Right to information

SEBI

T EA 53

Maslow’s need theory

Howthorne experiments.

-“;_:‘a-
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, H 1637 BXF/HA6C/HBCH/
i HB6C/HC6C/HD6C

B.A.,B.L. (Hons.)/B.A. LL.B. (Hons.)/B.com.,B.L'. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B (Hons.)/B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2015)
Third Year — Sixth Semester
ADMINISTRATIVE LAW

Time : 24 hours Maximum : 70 marks

PART A —— (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the scope and extent of judicial review of delegated legislation.

9 “Secrecy in Government is fundamentally anti-democratic, perpetuating

| bureaucratic errors” — In the light of the above statement analyse the
privileges of the Government to withhold documents before a court of

law.

3 Examine the various methods of control over Public Corporations and its

effectiveness.
PARTB — (2= 7=14 marks)

Answer TWO of the following in about 300 words each.

4. Explain the scope of Administrative Law and bring out the difference

‘ between Administrative Law and Constitutional Law.

5. State the circumstances under whick the application of the rules of

natural justice may be excluded.

. o . - i
6. Examine the significance of the Writ of Mandarmus as a means {0 control

/ the administrative action.

.’; y [P.T.0.]
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PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Rule of law,
(b) Administrative direction.
(¢) In Re Delhi Laws Act Case.
(d) Post-decisional hearing.
(e) Doctrine of legitimate expectation.
(fy Franks Committee.
(g) Central Vigilance Commission.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A lawyer while acting as special counsel for the Income Tax Department
had given his opinion that the assessee trust was not entitled to tax
exemption. Later on he was elected as a judge of the High Court and
seven years later heard and decided the same point, in a reference
against the trust. Against this order, an appeal was filed before the
Supreme Court. Decide.

Some ornaments were stolen from the house of Rajan. They were
recovered by the Police authorities and kept in the Police custody under
the orders of a magistrate. The goods were, however, stolen from police
custody before the disposal of the case. After the final disposal of the
Criminal proceedings, Rajan applied under the Criminal Procedure
Code, for the ornaments or the equivalent value. Decide.

As a result of an understanding between the employees and the
Government, a notification was issued under Article 309 of the
Constitution raising the age of retirement on Superannuation as
58 years, but by a subsequent notification it was brought down to 55
vears. The subsequent nctification was challenged on the ground of
promissory estoppel. Decide.

7 H 1637
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H 1661 HZY/HB6B

B.A.,B.L. (Hons.)/B.Com. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2015)
Fifth Yeal__f — Tenth Semester/ Third Year — Sixth Semester
CUSTOMS AND EXCISE LAWS

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

“No tax shall be levied or collected except by authority of Law under
Article 265" — Discuss. : g

Discuss the historical aspects of Customs Law.

Explain the aalient features of the Customs Act, 1962.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Discuss the prohibition on import and export of Goods under the
Customs Act, 1962.

Explain about the “Settlement of cases” under the Customs Act, 1962.

Explain the procedures for Registration of person engaged in production

or manufacture under the Central Excise Act.
‘ PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Nature of Levy and Measure of Levy.
(b) Customs officers.
(©) Common aspects of Customs. ;

(d) Shakti Kumar — vs — State of Maharashtra (1995).
‘(&) Customs Tariff Act.

(f) Bate’'s Case (1606).

(g) Cenvat credit.

[P.T.O.]
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PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8 The Maharashtra State Tax on the Entry of Motor vehicles into Local
areas Act, 1987 was challenged by the petitioner. He pleaded before the
court to declare the Act as invalid. Decide. :

9, Satish was living in Dubai. He came to India along with a washing
machine. Nine (old Biscuits were kept inside the washing machine.
These were seized and confiscated by the Customs officials. The customs
officers arrested him. Decide.

10. “E”, a company, imported designs and drawings recorded in cassettes.
The customs officials levied duty on it, stating that what is imported is
‘goods. “E” company contended that what it has imported is only a
Technical advice. Decide.

s
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Register No.

H 1658 HYA/HA5D/CHASD/
HB5D/CHB5D/HC5D/
CHC5D/HD5D/CHD5D

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.)/B.Com., LL.B. (Hons.)/
B.B.A., LL.B (Hons.)/ B.C.A,, LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2016)
Fourth Year — Seventh Semester/Third Year — Fifth Semester
COMPANY LAW =

Time : 2% hours : ‘Maximum : 70 marks
PART A — (2 x 12 = 24 marks) }
Answer TWO of the following in about 500 words each.

1. Define Memorandum and Articles of Association. What is the binding
force of the Memorandum and Articles as far as the company and its
shareholders are concerned?

9 “Directors are neither agents nor trustees of the company” — Discuss.

=

Define debenture. What is meant by crystallisation of a floating charge.
PART B — (2 x 7= 14 marks)
. Answer TWO of the following in about 300 words each.
Discuss the rights and duties of an auditor. .

Explain the rule in Foss vs. Harbottle with its exceptions.

o ooV

Describe the procedure for winding up of a company by the Tribgnal.
"~ PART C — (5 x 4 = 20 marks)

Write-short notes on FIVE of the following :

(a) Doctrine of constructive notice

(b) One person company

(¢) Illegal Association

(d) Preference shares

[P.T.O]




(¢) Promoter
(f) Prospectus
(g) Certificate of incorporation and its effects.

- PARTD —(2x6=12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

The name of ABC Ltd. has been changed to XYZ Ltd. Can the company
contend that a suit pending against it in the name of ABC Ltd. should
be dismissed, as there is no company by that name after the change of
name? Decide. ;

A telephone company put up telephone wires in a certain area. The
company had no power in the memorandum to put up wires there. A
resident of that area cut the wires. Decide whether the company can sue
for damages to the wires.

The Articles of Association of a company provided that the shares of any
member who became bankrupt should be sold to certain persons at a fair

© price. ‘B, a shareholder, became bankrupt and his trustee in bankruptcy

claimed that he was not bound by the articles. Decide.

2 H 1658
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Register no. '

HXE/HA6E/HBDC/HB6E/HC6E/HDGE

B.A., B.L. (Hons.)/B.A.LL.B. (Hons.)/B.Com., B.L. (Hons.}/B.Com. LL.B.

(Hons.)/B.B.A. LL.B. (Hons.)/ B.C.A.LL.B. (Hons.) DEGREE (SEMESTER]
EXAMINATIONS, NOVEMBER 2018.
(For the candidates admitted from 2011 to 2014)

B.A., B.L. (Hons.) Third Year —Fifth Semester
(For the candidates admitted during 2013 and 2014)
B.Com., B.L. (Hons.) Fourth Year -Seventh Semester
(For the candidates admitted during 2015)
B.A.LL.B. (Hons.)/ B.Com.LL.B. {Hons.}/ B.B.A.LL.B. (Hons.)/
B.C.A.LL.B. (Hons.) Third Year-Sixth Semester
INTERPRETATION OF STATUTES

Time: 2% hours Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

L 1. “As interpretation begins with the maxim ‘To Error is Human’, the relevance

of purposive tool, as indeed increased amongst the construction.of human
legislations” - Enumerate.

'.‘q‘

2. “Constitution is considered to be living law; the Courts through the

technique of liberal interpretation ensure the workability of constitutional
‘sonventions” — Examine.

3. “In the interpretation of Penal Statutes, the impact of the recent public

opinion indicates that the Court shall also strictly consider the test of
morality” — Discuss.

PART B — (2 x 7 = 14 marks)
Answer ’_[‘WO of the following in about 300 words each.

4. “Legislative Drafters are the first lawyers to interpret the Statutes” - Explain.

5. Explain the relevance of Statement of objects and Reasons’, Ilustrations’
and ‘Removal of Difficulties’ as aids of interpretation.

6. “The Construction of taxing statutes ought to be made in consonance with
the fiscal philosophy” — Elucidate.

(P.T.0.)




PART C - (5 x 4 = 20 marks)
7 Write short notes on FIVE of the following:
(a) Rule of Noscitur a sociis
(b} Practical Construction of Statutes
(¢) Principle of Good faith in Interpretation
(d) Legislative Dictionary in India
(e) Statutes in Pari materia

(f) Object of Repealing Acts
(g) Beneficial construction of statutes.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons. }

8. In a case involving the interpretation of Right to Freedom of religion, the
Court comes to the conclusion that Theological Science led Personal Laws
cannot be subjected to the actions or legislations of the State. Is there any
technique of interpretation to deduce the law out of the aforesaid judicial
proposition.

9. M’ instructs ‘N’ to bring a cup of water. During the process, ‘“’, shares his
water, realising the need to quench the thirst of N, ‘N’ on his return,
observes that ‘M’ has quenched his thirst, Y’ through his gesture, requests
water and ‘N’ delivers it to Y’. Identify the relevant rule of interpretation as
\)applied by ‘N’ to fulfil the content and context of ‘M’

10. During a criminal proceeding, a question of law arises as to the lack of
definition to the term ‘Sexual Violence’. The Court seeks clarity in terms of
techniques of interpretation in resolving the identity crisis vis-a-vis lack of
definitions — Advise.

\
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Register No. [ . l J

B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2014)
Third Year — Sixth Semester
AW OF INSURANCE

Time : 23 hours Maximum : 70 marks

PART A — (2% 12=24 marks)
Answer TWO of the following in about 500 words each.
Discuss the correlation between insurance contracts and wager.

Expound the constitution, power and duties of the Claims Tribunal
constituted under the Motor Vehicles Act.

Explicate the concept of constructive total loss, general average
expenditure and sacrifice under marine insurance contracts.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

Explain the extent to which the maxim In jure non-remota causa sed
proxima spectatur’ 18 applied in insurance contracts.

Enumerate and state the salient features of different types of Marine
insurance contracts.

Examine the elements of risks pertaining to Life Insurance contracts.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) IRDA

(b) Friendly and hostile fire

(c) Consensus-Ad-ldem

(d) Voyage and deviation

[P.T.O]
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(e) Excepted Perils
(f) Third Party insurance

(g) Assignment of Life Insurance Policies.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

‘A’ insures his life for five lakhs rupees and nominates his wife and
daughter as beneficiaries. He was shot and killed while involved in
smuggling of articles. The nominees claim the insurance amount.
Decide.

B, insures his home and movables contained therein, against loss by
fire. Fire incident occurs. In the fire extinguishing operation many of
the movables are damaged by spray of water. B, claims indemnity in
respect of these losses too. Decide.

A cart of oranges are insured against maritime perils and éent to a place
through sea transit. Due to unforeseen reason there is delay in the
vessel reaching the terminus ad quem and on delivery much of the fruits
are found as decayed. Insurance claim is made. Decide.

2 H 1640
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( : Register No.
< H 1642 HYD/HA7D/HBDD/
2 ' HB7D/HC7D/HDTD
T B.A.B.L. (Hons.)/B.A.LL.B. (Hons.)/B.Com.,B.L. (HonS‘.)lB.Com.LL.B.

(Hons.)/B.B.A.LL.B. (Hons.)/B.C.A.LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2015)
Fourth Year — Seventh Semester
BANKING LAW INCLUDING NEGOTIABLE INSTRUMENTS ACT
Time : 2% hours - Maximum : 70 marks
' PART A — (2% 12 = 24 marks)
Answer TWO of thé following in about 500 words eagh. .

1. Discuss the procedures and legal issues involved in obtaining a banking

licence in India.

9. Explain the various good lending principles that are applicable to

J banking sector.

3 State the classification of banks in India by analysing the role played

under various segments.

PART B — (2 x 7 = 14 marks)
> Answer TWO of the following in about 300 words each.

4. Discuss the various types of banking customers in India.
5. Explain the contemporary developments in E-Banking in India.

6. State the need for reforms in legal aspects relating to banking in India.

PART C — (b x 4 = 20 marks)
7 Write short notes on FIVE of the following :
(a) Crossing.
(b) Negotiable Instrument.
(¢) Discounting of Bills.

y ( S o : o [P.T.0.]
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(@ Cash reserve ratio.
(e) Holder and holder in due course.
(f_') Vicarious liability of & banker.

(g) Online payment.

PART D — (@2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

g ‘A deposits valuables and property documents in & bank locker. In the
same bank «A” takes a loan and later on defaults payment. Decide
whether the pank has lien ovet the valuables in the locker.

g AT commits forgery and signs his employer's cheque and withdraws
money. The bank employee accepts the cheque for payment due to
negligence. A’s employer sues the bank for their employee's negligence.

Decide.

10. “}kf" ijssues a cheque to “B” after verifying his pas’sbook entries, which
showed sufficient funds. Later oD the bank dishonours the cheque for
insufficient funds. “A” sues the bank, but the bank stated that the

passbook entries were erroneous and thus denied A’s claim for sufficient
funds. Decide the Jiability of “A”. |

e e
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Register No.

H 1618 HA7B/HBDA/HB7B/HC7B/HD7B

B.A. LL.B. (Hons.)/B.Com. B.L. (Hens.)/B.Com. LL.B. (Hons.)/
B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted during 2013, 2014 and 2015)
Tourth Year — Seventh Semester
LAND LAWS.
Time : 21 hours _ Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Explain the salient features of the Tamil Nadu Occupants of
Kudiyiruppu and Conferment of Ownership Act, 1971

9. Discuss the grounds available to the landlord to evict the tenant under
the TN Buildings (Lease and Rent Control) Act, 1960.

y 1 3.  “Right to property isnot a fundﬁmental right” — Explain.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

% Discuss the salient features of the Tamil Nadu Agricultural Lands
Record of Tenancy Rights Act, 1969.

5. Enumerate the special privileges conferred on members of armed forces.

6. DBriefly trace the early revenue administration that prevailed in.
Tamil Nadu.

PARTC —(bx4= 20 marks)
7 Write short nofes on FIVE of the following :

(a) Fair rent under the Tamil Nadu Cultivating Tenants (Payment of
Fair Rent) Act, 1956.

(b) Ceiling area. :

J - < - Pag)




(¢) Zamindari System

(d) Acquisition of land for company
(¢) Personal occupation

(f Service Inam

(g) Advisory Committee.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

An undivided Hindu family consists of the husband ‘A’, his wife ‘B,
9 minor sons C, Dand a married daughter E.

The extent of land held by the HUF is 40 standard acres. B's Stridhana
property is 15 standard acres and that of E is 10 standard acres. Decide
the extent of land that the family can hold?

Rahul let out his premises to Balaji for running a tea stall.& The tenant
was selling idlis and vadas procured from outside and not prepared in
the premises. The landlord seeks remedy under the Tamil Nadu
Buildings (Lease and Rent Control) Act, 1960. Advise. :

> let out a vacant site for running an automobile workshop with
wooden poles in the middle to support asbestos roof which is open on all
sides. Decide whether it is a building. :

& R - (8




Register No. L T ‘ j j

1 H 1659 HYC

B.A.B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2013

(For the candidates admitted from 2011 to 2014)
Fourth Year — Seventh Semester
REGULATORY LAWS

Tiae : 24 hours ‘ Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the public interest theory of regulation.

9 Discuss the functions of the Securities Exchange Board of India.

3. Explain the features of amendment to the TRAT Act, in the year 2000.
PART B — (2 x 7 = 14 marks)

A
Sl gt

1 Answer TWO of the following in about 300 words each.

4 Discuss the penalty provisions under the Securities Exchangé Board of
India Act.

5 State the procedure for licensing under the Electricity Act.
6. Explain about the Establishment of TRAT
PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(a) Dedicated Transmission Lines.

) Qualification of chairperson and members of Telecom Regulatory
Authority of India.

(¢) Security Receipts.

(@) Meetings under TRAIL
(e) Objective of PFRDA Act.
(f) Franchisee.

(g) Constitution of SEBI.

b [P.1.0.
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PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

and decided cases. Give cogent reasons,

A private company converts into a public company fulfilling the
procedure under the Companies Act. Thereafter 1t applies in two stock
exchanges for the securities to be listed. It publishes a prospectus
inviting the public to offer to purchase shares in the company. In the
meanwhile, one stock exchange accepts, while the other rejects. Discuss
the effect on the allotment contract.

A person takes on lease an apartment. A clause in the lease deed is
electricity matter relating to the apartment is to be taken care of by the
lessee. Next month, electricity-department sends notice saying that
there is a due of Rs. 10,000 and if not paid within the date stated,
Electricity will be cut. Decide.

10. A person goes to a Telecom service provider's outlet and pays the

amount for that month bill statement. A week later his SIM connection
is cut. He enquires and the reason stated is that he has not paid the
previous month bill. He furnishes the payment receipt, It 1s not
accepted, saying that their records do not reflect any payment made.
Advise as to redressal.

2 H 1659
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Register No.

H 1641 HYB/HA7C/HBDB/
HB7C/HCTC/HD7C

B.A.,B.L. (Hons.)/B.A.LL.B. (Hons.)/B.Com.,B.L. (Hons.)/B.Com.LL.B.
(Hons.)/B.B.A.LL.B (Hons.)/B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS,

NOVEMBER 2018.

(For the candidates admitted from 2011 to 2015)
Fourth Year — Seventh Semester

LABOUR LAW -1

Time : 2Z hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the procedure for amalgamation and dissolution of Trade
Unions under the Trade Unions Act, 1926. ' :

9 Define “Industrial Dispute” and decide whether a dispute concerning a
U single workman can be considered as an industrial dispute, under ‘the

Industrial Disputes Act, 1947.

kb

3. Bxplain the concepts of “Iiving Wage”, Fair Wage and Minimum Wage.
State the procedures for fixing and revising Minimum Wages under the
s Minimum Wages Act 1948. '

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4. Explain the powers and functions of “Certifying Officer” under the

Industrial Employment (Standing orders) Act, 1946.

5 Discuss the procedure to hear and deéide claims under the Payment of
Wages Act, 1936. - N

6. Define Retrenchment and discuss the conditions for valid' retrenchment
under the Industrial Disputes Act 1947. ‘ '

[P.T.O.]
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PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

{a) Unfair labour practices.

(b) Award.

(c) Domestic enquiry.

(d) Political Fund

(e) Collective bargaining.

() International Labour Organisation.

(g) Wage period.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasofs.

Some of the Railway employees had applied for casual leave for
participating in an agitation against the Railway Administration. The
leave was refused by the authority, but the employees participated in
the agitation. The management deducted the wage, treating the period
of leave applied for as absence from duty. Is it valid? Give reasons.

Vasanth, a workman, is laid off by his employer in his industry, but he
was advised to take up the alternative employment in another
establishment of his industry situated in a radius of 10 miles from the
ostablishment. Vasanth refuses to accept the alternative employment.
Can Vasanth be entitled to claim laid off compensation?

Gopi is running a Textile unit. The minimum wage fixed for the textile
‘unit by the Government was Rs. 750/-. Gopi, challenges- this on the
“ground that the industry is not financially sound to pay minimum wage

at Rs. 750. Decide the claim of Gopi.

2 H 1641
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Register No.

H 1646 HYI/HAGA/HBDI/HB6A/HCB6A/HDGA]

B.A., B.L. (Hons.)/B.A, LL.B. (Hons.)/B.Com., B.L. (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2013.

(For the candidates admitted from 2011 to 2015)
Fourth Year — Kighth Semester/ Third Year — Sixth Semester
COMPETITION LAW

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Trace the origin of Competition Law in India and discuss the objectives
- of the same. .

9. Explain the meaning of the term anti-competitive agreements stating
the various anti-competitive practices and the exceptions pertaining to
IPR.

‘3. State the composition, duties, powers and functions of the Competition
Commission of India.

PART B — (2 x 7= 14 marks)
. Answer TWO of the following in about 300 words each.
“Dominance is not prohibited but its abuse is prohibited” — Discuss.
Analyse aid examine the need for competition advocacy in India.

6. [Explain the extent to which cartels and dominance adversely affect the
consumers 1nterest. :

PART C — (5 x 4 = 20 marks;

7.  Write short notes on FIVE of the following :

(a) Agreement
(b) Tie-in arrangement

(c) Denial of access to market

[P.T.0.]




(d) Relevant market
(¢) Discriminatory trade practices
() Acquisition

(g) Predatory pricing.

PARTD —(2x6=12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

A cement company included a clause in the agreement with its dealer
that the dealer shall concentrale on 4 particular geographical area.
Decide whether this will adversely affect competition.

In a contract for sale of car, the car manufacturer insisted that during
the five year warranty period, air conditioning is to be fitted to the car
only by their authorised dealer. This was opposed to as unfair by the
buyer. Decide.

10. Mys. Sangeetha has furnished information to the Competition
Commission of India (CCI) alleging that APPLE International
Corporation has entered 1into Tie-in-agreement secretly with
VODAFONE and AIRTEL for sale of iphone in India in order to get
exclusive right. iphones were compulsorily locked so that they could
work on their own network to the exclusion of other networks.
Mrs. Sangeetha has also alleged that such an activity resulted in
s limiting and controlling iphone market by creating entry barriers for
other competitors in India. Based on the investigation report of the
Director General, the ¢CI has ordered for closure of the matter. Against
the orders of CCl, an appeal was preferred befora the Supreme Court of
India for various violations under the Competition Act, 2002. Decide
with reasons and the decided case law.
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Register No.

B.A.,B.L.(Hons.)/B.Com.,B.L.(Hdns.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018. -

(For the candidates admitted from 2011 to 2014)
Fourth Year — Eighth Semester

LABOUR LAW-1II

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

- “The underlying idea behind social security measures is that a citizen

who has contributed or is likely to contribute to his country’s welfare

should be given protection against certain hazards™ — Discuss.

Discuss the qualification, conditions, rates and period of various benefits

provided under the Employees’ State Insurance Act, 1948.

Analyse the provisions relating to health and safety of the workers

under the Factories Act, 1948.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Explain when an employee is eligible to receive gratuity under the

Payment of Gratuity Act, 1972.

Discuss the authorities to administer the Fund under the Employees’
Provident Funds and Miscellaneous Provisions Act, 1952,

H

Explain the constitution, jurisdiction and powe.s of Employees

Insurance Court.

[P.T.O.]
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PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) Shop under the Tamil Nadu Shops and Establishments Act, 1947.
(b) Welfare officers 7

(¢) Factory

(d) Set on and set off of allocable surplus

(e) Dependant under the Employees’ Compensation Act, 1923.

() Powers of the Standing Committee

(g) Wages under the Employees’ State Insurance Act.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

and decided cases. Give cogent reasons.

Raju engaged Ravi as a coconut climber to pluck coconuts from his trees
periodically. While at work, Ravi fell down and became permanently
disabled. He claimed compensation under the Employees’ Compensation
Act. But his claim was dismissed by commissioner. Ravi approaches the
High Court. — Decide. '

A company carrying on four industries viz (a) manufacturing of bronze

and copper sheets, (b) milling paddy, (c) a flour mill and

(d) a saw mill within the same premises, engaged more than 30
' persons in the manufacturing process. Out of these four, only the
unit which manufactures the bronze and copper sheets 1s a
scheduled industry. The Provident fund authorities visited the
company and demanded contribution for the remaining employees
working in three other unitg — Decide.

Teenu, an employee of a textils mill, obtained an order for the payment
of gratuity after his retirement. The employer of the textile mill
challenged the order as Teenu fajled to vacate the quarters allotted by
him. The appellate authority under the Fayment of Gratuity Act
reversed the order by disentitling Teenu to receive the gratuity, as he
was continuing to occupy the quarters belonging to the employer even
after the rvetirement. Aggrieved by this order, Teenu approaches the
High Court — Decide.
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H 1643l HYF/ HBDF

B.A., B.L. (Hons.)/B.Com., B.L: (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 20 11 to 2014)
Fourth Year — Eighth Semester
ENVIRONMENTAL LAW INCLUDING ANIMAL WELFARE LAWS

Time : 21 hours ' Maximum : 70 marks
PART A - (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Critically evaluate the functions of Pollution Control Boards — Discuss
the role of union and state governments to prevent environmental
pollution. s

2. Write an essay on Public Interest -Litigation and environmental

protection in India.

3. Discuss the law relating to forest and wildlife protection in India.
PART B - (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
4.  Write a note on “climate change and international law”.
\?), Discuss the salient features of “Coastal Re gulation” notifications.

6. Write a note on recent developments relating to senliure protection of
_ native breeds and prevention cruelty to animals”.

PART C — (5 x 4 = 20 marks)

7 Write short notes on FIVE of the following.

(2) Encroachment of waterbodies

(b) Public Liability Insurance Act .

(c) Noise pollution

(d) Biodiversity conservation

(¢) Bio-Medical Waste Management

() National Green Tribunal (NGT).

(g) 'Stockholm _Declaration. ‘

(P.T.0.]




(¢) Data mining

(d) E-mail bombing
(e) Beneficial Hacker
(f)  Phishing

(g) Conv'efging téchnology.

PART D — 2 x 6 =12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8. HL Industry, India entered into an agreement with one US based TALD
Industry, through online process for delivery of “Metal and copper
needles”. Based on the online agreement HL Industry sent 1000 tonnes
of Metal and Copper Needles to TALD Industry, put TALD Industry
failed to pay the consideration in time. So HL Industry wants to file a
suit against TALD Industry for breach of contract. Advise HL Industry.

9. Surya has downloaded some porn movies in his personal computer and
later he uploaded the above said movies in his Facebook account. Decide
whether Surya committed any cffence.

10. Saran, an Engineering gtudent of IT department, I[IT Kaunpur sent an
E-mail with attachment of ‘Bug Virug known as T Love You to his
classmate, Roopa. On seeing the mail, Roopa happily did click on the

attachment file without knowing the virus. The virus overwrites all files

Ny

> on her computer and destroyed some valuable software also. Thus she
wants to take lawsuit against Saran. Advise her.
2 H 1645 ¢
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H 1643 HYF/ HBDF

B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2014)
Fourth Year — Eighth Semester
ENVIRONMENTAL LAW INCLUDING ANIMAL WELFARE LAWS

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Critically.evaluate the functions of Pollution Control Boayds — Discuss
the role of union and state governments to prevent environmental
pollution. ' : ' :

2, Write an essay on Public Interest Litigation and environmental
protection in India. ;

3. Discuss the law relating to forest and wildlife protection in India.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
ik Write a note on “climate charige and international law”.
2 Discuss the salient features of “Coastal Regulation” notifications.

" 4 Write a note on recent developments relating to “culture, protection of
native breeds and prevention cruelty to animals”. :

PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following.

~ (a) Encroachment of waterbodies

(b) Public Liability Insurance Act

(¢) Noise pollution

(d) Biodiversity conservation

(e)- Bio-Medical Waste Management.

() National Green Tribunal (NGT).

(g) -Stockholm Declaration.

[P.T.0]




Answer TWO of the following by referring to the relevant provisions of law

S

PART D — (2 x 6 = 12 marks)

and decided cases. Give cogent reasons.

The Government of India proposed to mine precious metals from g
biodiversity rich forest. The project was opposed by both State
Government and Local bodies. A litigation was initiated against the
Central Government. Decide..

A group of farmers were affected by the polluted water supplied by the
Irrigation department. The feeding river was polluted by a upper
riparian state. Farmers filed a cdse against the irrigation department
and the upper riparian state. Decide.

State ‘A’ and state ‘B’ agreed to share an international river. However
the upper riparian state ‘A’ wanted to construct a dam for generating
electricity without affecting the quantity of water supplied to state ‘B’.
But, state ‘B’ opposed it. Decide. '

i
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Register Ne.

HXI/HATA/HBEH/HB7A/
H 1657 HC7A/HD7A

B.A.,B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com., B.L. (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted from 2011 to 2015)

Third Year — Sixth Semester/Fourth Year — Seventh Semester/
Fifth Year — Tenth Semester

INTELLECTUAL PROPERTY LAWS
Time : 24 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks) }
Answer TWO of the following in about 500 words each.
1. Explain the significance of geographical indication in India.

2.  “The impacts of TRIPs Agreement is not always positive to the
developing countries” — Describe.

3. Explain the concept of “Anticipation” in terms of Patent Act and decided
cases.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain the concept of ‘moral rights’ with the help of decided cases.
5. Distinguish between infringement of trade mark and passing off action.
6. Epumerate the common features of intellectual property rights.
PART C — (5 x 4 = 20 marks)

7 Write short notes on FIVE of the following :

(a) Springboard doctrine

(b) Fair-use

(c) Patent Law Treaty

(d) Copyright Society

[P.T.0.]




(e) Inherent Distinctiveness
& NATCO vs Bayern
(g) Anton Piller Order.
PART D — 2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Mr. Uday, has invented a device to absorb carbon known as ‘Carbon
terminator’ and filed an application before Mumbai Patent Office in
order to obtain patent. But it was opposed by one professor from IIT —
Delhi, based on the ground that the same invention was already
invented by Harvard University in USA and the information about the
invention was also published in the University online Journal. Hence,
the Controller of. Patent served an ‘Opposition notice’ to Mr. Uday —

Decide.

Mr. Vasudevan, a famous writer in Malayalam, has written a novel in
Malayalam titled as “Vadakan Veera Khada” and thé same was also
published. Some time later one Mr. Saran, translated this novel into
Tamil and titled the same as “Vadathisai Veera Kaaviyam” without
getting permission from Mr. Vasudevan. On knowing the same
Mr. Vasudevan filed a case against Mr. Saran for copyright
infringement. Decide.

Madavan, registered a trade mark for his hotel service as APPLE. Some
time later, one James used the name APPLE for his steel manufacturing
industry. Thus Madavan filed a case against James for trade mark
infringement. Argue for James.
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B.A., B.L. (Hons.)/B.Com., B.L.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.
(For the candidates admitted from 2011 to 2014)

Fifth Year — Ninth Semester
LAW OF ELECTIONS
Time: 2% hours ' Maximum: 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words cach.

HZD/HBEC

1. Elucidate on the qualifications and disqualifications of ymembers of
parliament and state legislature under the Constitution and appropriate
legislation.

2. Critically examine powers arid functions of the Election Commission.

3. Write an essay on criminalization of politics with the help of leading case-
law.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Write a brief note on evolution of democracy and Election System.
“»

E

5. Explain Electoral Manifesto Guidelines.
6. Examine corporate funding of political parties.

PART C — (5 x 4 = 20 marks)

7 Write short notes on FIVE of the following:

(a) NOTA

(b) Women Reservation

(c) Public financing of Elections

(d) Electoral Reforms

(e) Right to know

(f) Electoral offences

(g) Code of conduct

(P.T.O)




PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons.

8. X’, an independent candidate, got clected to Lok Sabha. After six months, he
joined with the ruling party. Would X’ be disqualified under the Anti-
defection law.

0. The candidate who won the election distributed sweets to school children
with the express object of influencing the voters. The expenses incurred in
this regard were included in the return of election expenses. Is it a corrupt
practice?

10. The candidate in an election campaign delivered a speech to make the
people believe that if the voters vote for the opposite candidate, they would
be the object of divine displeasure. Does it amount to corrupt practice in
election law?
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H 1648 HZC/HBEF

B.A., B.L. (Hons.)/B.Com. B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2011 to 2014)
Fifth Year — Ninth Semester/Tenth Semester
CIVIL PROCEDURE CODE
Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
)

1. Explain the essential requisites of pleadings and describe the modes of
) amending the pleadings.

2.  “Nemo debet bis vexari pro una et eadem causa” — Explain the maxim
with the relevant provision of the Civil Procedure Code.

3. Describe the provisions relating to computation of period of limitation
under the Limitation Act 1963. '

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
.‘\"4. Explain issues and framing of issues under the Civil Procedure Code.

5. Explain the provisions of Civil Procedure Code regarding the place of
suing.

6. Define and distinguish Appeal and Revision under the Civil Procedure
Code.

PART C — (5 x 4 = 20 marks}
7. Write short notes on FIVE of the following :
(a) Review.
(b) Caveat.

(¢) Commissioner.

PEEIROL]




(d) Representative suit.
(¢) Condonation of delay.
) Admission.

(g) Civil Prison.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

‘A’ and ‘B’, co-plaintiffs, obtain a decree for Rs. 10,000 against C and ‘C’
obtains a decree for the same sum against ‘B’. Whether these two
decrees can be set-off as cross-decrees?

‘A’ advances a loan of Rs. 1 lakh to B. When ‘B’ defaulted in payment, ‘A’
filed a suit within the Jurisdiction of Court ‘C’, for Rs. 80,000 only. Can
‘A’ file a subsequent suit for the balance sum?

Nirmal borrowed a sum of Rs. 50,000/- from Aravind under a promissory
note executed on 1.3.2015 and defaulted payment on demand. On
4.4.2018, Nirmal acknowledged his debt in writing. Decide the rights of
Aravind upon the acknowledgement.
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HZA/HBEA

B.A., B.L. (Hons.}/B.Com., B.L. (Hons.) DEGREE (SEMESTER}
EXAMINATIONS, NOVEMBER 2018.
(For the candidates admitted from 201 1 to 2014}

Fifth Year — Ninth Semester
LAW OF TAXATION

Time: 2% hours Maximum: 70 marks

PART A — (2 x 12 = 24 marks})
Answer TWQ of the following in about 500 words each.

. Define Income and discuss about the various heads of inco;ne under the

Income Tax Act, 1961.

. Discuss about the procedure for assessment of Taxes under the Central

Goods and Services Tax Act, 2017.

. Examine the permissible deductions under Indian Income Tax Act, 1961.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

_ Discuss about Best judgement assessment and income escaping assessment

under the Income Tax Act, 1961.
S

. Discuss about Appeal and Revision provisions under the Tamil Nadu Goods

and Services Tax Act, 2017.

. Discuss about exempted income under the Income Tax Act, 1961.

PART C — (5 x 4 = 20 marks)

_ Write short notes on FIVE of the following:

(a) Direct and Indirect Taxes

(b) Accrual of income

(c) Clubbing of income

(d) Search and Seizure under the CGST Act, 2017.

(e) Double Taxation relief

(f) Offenices and penaities under the TNGST Act, 2017.
(g) Tax and fee

(P.T.O.)




PART D — (2 x 6 = 12 marks)
Answer TWO of the following by referring to the relevant provisions of law. Give
cogent reasons.

8. Furnish the tax rate for the following assessee for the assessment year 2018-
OIS,

(a) Super Senior Citizen
(b) Companies

(c} Women

9. The income and expenditure particulars of Mr. X’ is as follows:

Income (Per annum) Expenditure (Per annum)

(a) BasicPay -Rs.10 lakhs P.F. _ Rs.1 lakh

{b) DA - Rs.2 lakhs Pension scheme - 2 lakhs

(c) CCA - Rs.60,000/- LIC - Rs.1 lakh

(d) HRA -Rs. 1 lakh Medical treatment- Rs.60,000/-

(e) Income from gambling -Rs.10 lakhs Tuition fee for son-Rs.40,000/-
Calculate the taxable income for Mr.’X’ for the assessment year 2018-2019.

10. M/s. ABC Ltd., a restaurant with Bar attached facility having annual
turnover of one crore, wishes to apply for composition levy under the Central
Goods and Services Tax Act, 2017. Advise M/s. ABC Ltd. about the
maintainability.

»



Register no, D:l'

HZF /HBEG

B.A., B.L. (Hons.) /B.Com., B.L.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.
(For the candidates admitted from 2011 to 20 13)

Fifth Year — Tenth Semester
PRIVATE INTERNATIONAL LAW

Time: 2% hours Maximum: 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Analyse the distinction between private international law and public
international law. }

. Examine the concept of ‘domicil’ and explain its importance in private
international law.

_ Discuss the different forms of renvoi and point out the objections to the
foreign court theory. '

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Explain the methods of legitimation available under Indian private
uiglternationa] law.

_ State the salient principles regarding foreign adoptions.
. Write briefly on the modern trends in tort law.

PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:

(a) Foreign judgement.

(b) Lex situs.

(c) Forum convenience.

(d) Formalities of marriage.

(¢} Examine the problem of classification.

(f) Legitimacy.

(g) Plea of lis alibi pendens.

(P.T.O))




PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons.

8. X’ an Indian smuggler, flees India and goes to England. The Indian customs
authorities levy on him customs duty of one lakh rupees and a penalty of
fifty thousand rupees. Can the Indian Government file a suit in England
against X’ to recover these amount.

9. X’, with a New York domicil of origin acquires an Indian domicil. Thereafter
he leaves India on a ship, with a view to acquire a domicil in Australia by
settling down there. Before reaching Australia he dies on the ship. What is
his domicil at the time of death?

10. The expression telegraph line is not defined under the Indian Electricity Act
1910. The Plaintiff contends that the expression telegraph line must have
the same meaning as it had under the Indian Telegraph Act 1885 by
following the contemporanea expositio rule. Decide whether the
contemporanea expositio rule can be applied in relatively modern statutes?




— e W

H 1660 HZH/MBEI

Time :

Register No. h

B.A.B.L. (Hons.)/B.Com. B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018

(For the candidates admitted from 2011 to 201.3)
Fifth Year — Tenth Semester
INTERNATIONAL TRADE LAW

21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Explain the theories of International Trade.

Regional organs are inevitable in the International Trade Justify with

" reasons.

Explain the ADR Mechanism in International Trade.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Explain the International Commermal Contracts in the light of
Globahisation. -

How European Union has becomé full fledged regional mechanism

under the umbrella of Trade?

What are the various risks in International Trade amongst SAARC and
ASEAN countries.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the follbwing :

(a) FDI

(b) TRIPS
(c) Most Favoured Nation
(d) Carbon Trading

{e) NIEO
() UNCTAD and WTO
(s) TBRD.
[P.1.0.1




PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

O

and decided cases. Give cogent reasons.

Country “X” and country “Y” are the members of OPEC. Country “Z” is
MFN to country “Y”, hence “Y” country is exporting oil to “Z” at reduced
Tariff which is the violation of OPEC policy. So the OPEC opposed the
actions of “Y”. Whether country “Y” can succeed?

India is a signatory to WTQ-GATS, hence it allows the entry of Foreign .

legal firms to practise Law in Tndia. But the Bar Council of India
severely objects the actions of Government of India and sued before the
apex court, Whether BCI can succeed?

“X”, which is a socialist country and also -a developing country, made
compulsory licencing for all patented products created by nationals of
“X” country. It was criticised by the other developing countries, stating
that it violates the obligations of WTO-TRIPS. Justify the act10ns of “X”

country. )

8ot H 1660
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PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

S

and decided cases. Give cogent reasons.

Country “X” and country “Y” are the members of OPEC. Country “Z” is
MFN to country “Y”, hence “Y” country is exporting oil to “Z” at reduced
Tariff which is the violation of OPEC policy. So the OPEC opposged the
actions of “¥”’. Whether country “Y” can succeed?

India is a signatory to WT'O-GATS, hence it allows the entry of Foreign .

legal firms to practise Law in India. But the Bar Council of India
severely objects the actions of Government of India and sued before the
apex court. Whether BCI can succeed?

“X”, which is a socialist country and also a developing country, made
compulsory licencing for all patented products created by nationals of

“X” country. It was criticised by the other developing countries, stating

that it violates the obligations of WTO- TRIPS. Justify the actlons of “X”
country. }
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H 1662 - HB1B/CHB1B/
HC1B/CHC1B/
HD1B/CHDI1B

B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/ B.C.A. LL.B.(Hons.)

DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018

(For the candidates admitted from 2015 to 2018)
First Year — First Semester

PRINCIPLES OF ECONOMICS
Time : 23 hours Maximum : 70 marks
PART A — (2 % 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Critically evaluate the applications and uses of Indifference curve

analysis with a suitable diagram.

9 Define Monopoly. How are price and output determined under Monopoly

market?

3.  How does Keyne’s theory of Income, Qutput and Employment promote

> _ economic development?
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4. Draw the circular flow of income labelling all markets including foreign

sector.

5. State the issues and challenges of present scenario of agriculture in

India.

6. Discuss Industrial Relations under the Labour Legislations in India.

[P.T.O]




7.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a)
(b)
(©
(d)
(e)
)
(8)

Employment Generation Programmes in India.

Absolute Income Hypothesis.

Components of National Income Accounting.
Characteristics of Good Tax System.

Problems of Agricultural Marketing.

Different types of inflations.

Subject — matter of Economics.

PART D — (6 x 2= 12 marks)

Answer SIX of the following very briefly.

(a)
()
(©
(d)
()
®
(e
(h)

Malafide Transfer.
MA.

Pure competition.
MGNREGA.
Green Revolution.
Fiscal Policy.
Effective Demand.
HDI.
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H 1664 : - HR2B/CHB2B

B.Com.LL.B (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted from 2015 to 2017)
| First Year — Second Semester
PRINCIPLES OF ACCOUNTING

Time : 24 hours Maximum : 70 marks
PART A - (2 X 12 = 24 marks)
Answer TWO of the following in ébout 500 words each.

1. What is purchase consideration? Explain the various methods of its

calculation.

2. The following are the balances extracted from the books of Mr. Swamy
as on 31.3.2008. Prepare Trading and Profit and loss account for the
year ended 31.3.2003 and Balance Sheet as-on that date :

: Tis. Rs.

Capital 1,00,000
Opening stock 20,000
Machinery 40,000
Purchases 70,000

¢ Purchase returns 1,000

- Sales 90,000
Sales returns 1,000
Wages 2,000
Salaries 5,000
Office rent 2,000
Insurance 1,000
Sundry debtors 50,000

. Sundry creditors 29,000
Cash 1,000
Bank balance 28,000

[P.T.0]




Adjustments :

(a) Omn 31.3.2003 closing stock Rs.20,000
(b) Outstanding salaries Rs.1,000

(¢) Prepaid insurance Rs.500

(d) Bad debts Rs.1,000

(é) Provide 10% depreciation of machinery.

3 B and C'are partners in a firm, sharing profits and losses in the ratio of
5:3. They admit A into the firm on 1st April 1999, when their Balance
Sheet was as follows :

Liabilities Rs. Assets Rs.
B’s capital 32,000 Goodwill 8,000
(C’s capital 34,000 Machinery 38,000
General Reserve 8,000 Furniture 5,000
Bank loan 6,000 Debtors 23,000
Creditors 6,000 Stock - 7,000 l
Bank 5,000 |
86,000 86,000 |

Terms of A’s admission were as follows :

(a) A will bring Rs.30,000 through cheque, as his share of capital and.
rd
will be entitled to % share in the profits.

> (b) A is not to bring goodwill in cash. B and C raise the goodwtll in the
books which is valued on the basis of 2 years purchase of the
average profits of the last three years.

(c) Average profits of the last three years are Rs.6,000.

(d) Machinery and stock are revalued at Rs.45,000 and Rs.8,000
respectively.

(e) Goodwill is not to be shown in the books of the new firm.

Prepare Revaluation Account and partners Capital Accounts
incorporating the above adjustments and also the Balance Sheet of

the firm after the above adjustments.

o
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4.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

From the following assets side of the Balance Sheet of Sundaram
Computers Ltd., for the year ended 31.12.01 and 31.12.02, prepare 2
common size Balance Sheet for 2001 and 2002

Rupees in lakhs

Assets 2001 2002

Cash 100 140
Debtors 200 300
Stock 260 5 - d0e
Land and Buildings =~ 400 370
Plant 300 270
Furniture 100 140

S0 =

¥

Mukesh and Co. Ltd was registered on 1.1.1999 to buy the business of
M/S Mukesh & Bros., as on 1.10.1998 and obtained the certificate of
commencement of business on 1.2.1999. The accounts of the company for
the period of 12 months ended 30.9.1999 disclosed the net profit of
Rs.1,25,000 after having charged the following amounts :

Salary

Wages

Sales

Directors fee

Rs.30,000 (There were 4 employees . in the
pre-incorporation period and 7 in  the post-
incorporation period)

Rs.10,920 (There were 4 workers in the pre-
incorporation period and 5 in the post-incorporation
period and the rate of wages were Re.160 and Rs.200
per month per worker in the pre and post incorporation
periods respectively)

: Rs.4,80,000 of which Rs.80,000 related to

pre-incorporation period.

Rs.16,000

You are required to calculate profit for pre and post incorperation
periods separately.,

Distinguish between hirer-purchase system and instalment-purchase

gystem,

3 - H 1664




PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a)
(b)

()

(d)

(e)

(0

Briefly explain the objectives of accounting.

A, purchased a truck on hire-purchase system. The cash price of
the truck was Rs.74,500. He paid Rs.20,000 on signing of the
agreement and rest in three annual instalments of Rs.20,000 each.
Calculate interest for each year.

What are the various methods of treatment of goodwill on the
retirement of a partner? '

R, S and P are partners with capitals Rs.50,000, Rs.30,000¢ and
Rs.20,000, share profits in the ratio of 5:3:2. As from 15t January,
1999. S retires and the following revaluations were made :

) Land and Buildings to be increased by 48,000

(1) Stock, furniture and machinery values to be reduced by
Rs.4,000, Rs.1,000 and Rs.4,600 respectively.

(iii) Create a reserve of Rs.200 for doubtful debts
(iv) Goodwill of the firm ig agreed at Rs.30,000

Prepare S's a/c and find out the amount due.

From the following data, calculate profit prior to incorporation :

Time ratio i : 152

Sales ratio : 1:3

Gross profit : Rs.1,70,5600
Administrative expenses Rs.69,600
Expenses relating to sales Rs.18,600
Preliminary expenses i Rs.11,560.

On the date of liquidation of a company, the salaries of four clerks
for four months at the rate of Rs.7,000 p.m. and salaries of four
peons for three months at the rate of Rs.1,500 p.m. are
outstanding. You are required to calculate the amount to be
included in the preferential creditors and unsecured creditors.

4 H 1664
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(g)

Compute the payout ratio from the data provided by the
Equipment leasing company Ltd.

Net profit 80,000
Provision for tax ; 40,000
Preference dividend 10,000
No. of equity shares 30,000
Dividend per equity share 0.45

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly .

(a)

(b)
(©
(d)

©)

From the following compute the value of stock
Sales = Rs.10,00,000

Gross profit ratio = 26%

Stock turnover ratio = 10

Closing stock is more than opening stdck by Rs.25,000
What is fund flow statement?
Write a note on consignment.

A limited company went into voluntary liquidation with the
following share capital :

Class X : 4,000 Equity shares of Rs.100 each, Rs.75 paid up

Class Y : 3,200 Equity shares of Rs.100 each, Rs.60 paid up

Class 7 : 2,800 Equity shares of Rs.100 each, Rs.50 paid up
Amount available for equity shareholders : Rs.1,22.000

Calculate the amount payable to / receive from equity

shareholders.

Draw up the ‘Schedule 3’ of Bank accounts.

5 H 1664




(f) In order to provide funds for capital reduction scheme, a debenture
holder of Rs.4,00,000 has agreed to take over stock worth
Rs.1,00,000 and book debts of Rs.80,000 in full satisfaction of the
amount due to him. Pass necessary journal entry to record the

above transaction. ' l3

(g) A, B, C,Dand E are in a partnership sharing profits and losses as
e =
Ty e D
to share with their ratio immediately before the retirement of A,
Calculate the profit sharing ratio after A’s retirement.

and —2% respectively. A retires and others confinue

(h) What do you mean by ‘Average clause’?

6 H 1664 >




H 1667 HBAF/HB2A/CHB2A/HC2A/ .
CHC2A/HD2A/CHD2A

B.B.A.LL.B. (Hons.)lB.C.A.LL.B.(HonS.)[B.Com., B.1.. (Hons.)/
B. i]—o/m.,zLLB. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,

NOVEMBER 2018.

(For the candidates admitted from 2011 to 2017)
First Year — Second Semester

BUSINESS ENGLISH
Time : 2% hours ‘ Maximum : 70 marks
PART A —- (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. What are the major advantages and disadvantages of globeflization?

9 What are considered as barriers to communication? Discuss in detail
language as a barrier to communication.

3. Explain the important functions and duties of a company secretary in an
organization.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

LEN

Write a letter of complaint to the wholesaler stating that the order you
placed for the goods is different in quality from that you received.

5. - What are the seven ‘C's of style in a business letter?

6. Bring forth the relevance and importance of Agenda for meetings.

PART C — (6 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Explain the productive skills in language acquisition.
(b) Define bank correspondence and its types.
(cy What are the essential qualities of a company secretary?

(d) List out the characteristics of a good report.

[P.T.O]




() Bring forth the essential things required for report writing.

)
(g)

Explain the layout of an interview letter.

Elucidate the modern forms of communication.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(@)
(b)
©
(D
(€)
(®)
(2)
(h)

Proxemics.

Explain unstructured interview.
Insurance correspondence.
Purpose of issuing circulars.
Internet and E-mail.
Acknowledgement letter.

LPG.

Horizontal communication.

H 1667




H 1665 HB2C/CHB2C/HC2C/CHC2C/HD2C/CHD2C |

Register No.

B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/B.C.A., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2015 to 2017)
First Year — Second Semester

SOCIOLOGY

Time : 21 hours Maximum : 70 marks

6>

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words ezach.

Define caste and analyse critically the changing trends of caste system
in contemporary Indian society. : '

Explain women empowerment and highlight the programmes and
policies introduced by the government to empower women in India.

Discuss in detail the evolution of Indian Civilization.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Examine the hurdles faced by women in India. |
‘Bring out the chief characteristics of primary and secondary groups.

Explain the factors facilitating deviance.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) Functions and importance of marriage

(b) Formal agencies of social control

(¢) Difference between ascribed status and achieved status
(d) Feminist m'oveinenf :

(e) General characteristics of the family

(f) Factors affecting caste system in modern India

(g) TFunctional theory of social stratification.

[P.T.O.]




PART D — (6 x 2 = 12 marks) ‘

Answer SIX of the following very briefly.
(a) Vedic Age

(v National Integration

() Affinal kin :

(d) Jajmani system

(e) Slavery

(f) Non-fraternal polyandry

() Hindu Marriage Act of 1955

(h) Fashion and Fads
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H 1668 HBAG

B.Com.,B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted during 2013 and 2014)
First Year — Second Semester

PRINCIPLES OF MANAGEMENT
Time : 2% hours ‘ Maximum : 70 marks
| PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. With the help of block diagram, explain the process of MBO.
2. Explain foﬁrteen prinéip’les of managemenf by Henry Fayol.
3. Explain the advantages and disadvantages of planning.
: PART B — (2 x 7_':14 marks)
Answer TWO of the following in about 300 words each.

4. What is decision making? Explain various types of decisions in business
organizations?

5.  What is meant by departmentation? Explain its needs and importance.

e Explainl the consequences of professional misconduct under the
Advocates Act, 1961, —

PART_ C —(5 x 4 = 20 marks) 7
7. Write short notes on FIVE of the following :
(a) Explain the line organization with a neat sketch.
(b) Explain the importance“o‘f performance appfaisal.
(©) Describe the drawbacks in MBO. |
(d) Explain the benefits of info‘rrrﬁai organization.

(e) Explain the factors determining the extent of decentralization.

[P.T.O]




(f) Organizations have three levels of managers. Kxp
(g) Explain the steps in selection process.
PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly :

(a) Theories of motivation — any three.

(b) Esprit de corps.

(c) Benefits of MBO.

(d) Budgetary control tech_niques.

(e) . Recruitment.

(f) Three levels of strategy.

(g) Quantitative forecasting techniques.

(h) Division of Tabour.

lain ihem.

H 1668




Register No.

H 1669 [ HBAH

B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018,

(For the candidates admitted during 2013 and 2014)
First Year — Second Semester

PRINCIPLES OF ACCOUNTING
Time : 21 hours —— : : Maximum : 70 ﬁlarks
PART A — (2 x 12 = 24 marks)
: Answer TWO of the following in about 500 words each.
1 What are accounting concepts? Explain them in detail. ‘ i

2= and B are partners sharing profit in the ratio of 3: 1. Their Balance
sheet on 31.3.2010 stood as follows: - -

Liabilities  Rs. Assets Rs.
Salary due 5,000 Stock 10,000
Creditors 40,000 Prepaid Insurance 1,000
Capital Debtors 8,000
A : 30,000 " Less: Provision 500 7,500 .
B:20,000 50,000 Cash 18,500
Machinery 22,000
Buildings - 30,000
: Furniture 6,000
2 95 000 95,000

C is admltted as a new partner 1ntroduc1ng a capital of Rs. 20 000, for -

his Z th share in future profits.

Following revaluations are made:

(a) Stock to be depreciated by 5%.

(b) Furniture be depreciated by 10%

(¢) Building be revalued at Rs. 45,000

(d) The provision for doubtful debts should be increased to Rs. 1,000.

Pass journal entries, prepare revaluation a/c and balance sheet
‘after admission.

[P.T.0.]




3

Prepare a Trading and Profit and loss
December 2012 and a balance sheet as on

Trial balance of Mr. Surya.

Debit, balances
Drawings

Goodwill -

: Buﬂdings

Machinery

Bills receivable
Opening stock
Purchases

Wages

Carriage outwards
Carriage inwards
Salaries

Rent

Discount

Repairs

Bank

Cash

Debtors

Bad debts
Sales returns

Furniture

- Advertisements

(General expenses

Adjustments:

(a)
(b)
(c)
(@)
{e)

Closing stock was Rs. 35,000

Rs.
45,000
90,000
60,000
40,000

6,000
40,000
51,000
26,000

500

1,000
35,000

3,000

1,100

2,300
25,000

1,600

45,000

1,200
2,000
6,000
3,600

450

4,85,650

Credit balances Rs.

Capital 1,60,000
Bills payable 35,000
Creditors 70,000
Purchase returns 2,650
Sales 2,18,000
485,650

Depreciate machinery and furmture by 10%

QOutstanding wages Rs. 1,500
Prepaid advertisement Rs. 500

Create 5% on debtors for bad debts as provision.

a/c for the year ended 3 st
that date from the followmg
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PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

What is book keeping? Distinguish between accounting and book
keeping. : :

Mr. X purchased a machine on hire purchase system. Rs. 3,000 being
paid on delivery and the balance in five instalment of Rs. 6,000 each,
payable annually on 315t December. The cash price of the machine was
Rs. 30,000. Calculate the amount of interest for each year.

The accounts of the Thackery Ltd. showed an amount of Rs. 3,00,000 to
the credit of Profit and loss account on 31.3.2009, out of which the
directors decided to place Rs. 60,000 to general reserve and Rs. 42,000 to
debenture redemption fund. At the annual general meeting held on
15.6.2009 it was decided to place Rs. 20,000 to a development reserve
and to pay a bonus of 2%% of the profit to the directors as additional
remuneration. The payment of the half-yearly dividends on Rs. 5,00,000

' 6% cumulative preference shares on September 30, 2008 and March 31,

2009 was confirmed and a dividend @ 10% was declared on the equity
share capital of the face value of Rs. 6,00,000. The balance of profit and
loss a/e 1s to be carried forward to next year. } :
Prepare profit and loss appropriation a/c showing the above
arrangements. - '
PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:
(a) Distinguish between revenue reserves and capital reserves. :
(b) Prepare a bank reconciliation statement as on 31.12.2013, from the
following details:-
Balance as per cash book Rs. 7,225
Cheque deposited into bank but not collected Rs. 675
Cheque issued but not presented for payment Rs. 879
Bank charges debited in the passbook Rs. 20
Interest credited in the passbook Rs. 15.

(¢) TFrom the following particulars, prepare a receipts' and payments
alc.

Cash in hand Rs. 100

Cash at bank Rs. 500
Subscriptions received Rs. 3,300
Donation received Rs. 260
Investment purchased Rs. 1,000
Rent paid Rs. 400

General expenses Rs. 210
Postage-and stationery Rs. 70
Sundry expenses Rs. 30

Cash balance at close Rs. 20.

3 H 1669




(d)

(e)

M

(g)

(@)

(b)
()

(d)
(e)
)
(g)
(h)

Write the difference between receipts and payment a/c and income
and expenditure a/c.

Aruna, Bros. furnish the following details for the year 2007. '
Sales Rs. 2,00,000, cost of production Rs. 80,000

Opening stock of finished goods Rs. 50,000

Closing stock of finished goods Rs. 31,000

Sales returns Rs. 20,000. Calculate gross profit ratio.

From the following information relating to Bright Ltd., calculate
funds lost in operation

Net loss for the year Rs. 90,000
Dividend received Rs. 7,000
Depreciation charged Rs. 10,000

- Profit on sale of assets Rs. 5,000

Refund of tax Rs. 2,000

What is realisation a/c? Differentiate it from revaluation a/c.

PART D — (6 x 2 = 12 marks)

Answ'er SIX of the following very briefly.

X and Y are partners sharing profits in the ratio of 3.2. They admit
7 as a partner for 1/5¢ share in future profits. Calculate new Ratio.

What is dissolution of partnership firm?

Marshall Titd. has share capital of Rs. 5,00,000, divided into 5,000
shares of Rs. 100 each, fully pald Show the entries under each of
the following conditions: -

(i) When Marshall Ltd. resolves to sub-divide the shares into .

50,000 shares of Rs. 10 each fully paid.

(i), When Marshall Ltd., resolves to convert its 5000 shares of
Rs. 100 each into Rs. 5,00,000 worth of stock.

What is capital redemption reserve?

Give the meaning of Cash flow statement.
What is consignment? =

What is meant by Ratio analysis?

What is Non-trading organisation?

4 . H 1669

< — P et



Register No,|

H 1604 | CIIB3B

B.Com. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted during 2016 and 2017)
Second Year — Third Semester
FINANCIAL MARKET AND MARKETING MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the nature and scope of Financial Market Services.

2. Evaluate the powers and functions of SEBI in lieu of efficient
management of stock markets and investor protection in India.

3. What is meant by PLC? Explain its stages.

PART B (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Differentiate — Financial Lease and Operating Lease.
5. What are the different types of buying motives?

Al Explain the stages involved in the process of New Product Development.

PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following :
(a) Characteristics of Capital Market

(b) Types of underwriting of securities
{¢) Features of Mutual Funds

(d) Methods of Market Segmentation
(e) Factors influencing channel decision
() New Financial Instruments in India

(g) Advantages of Credit Rating to investors

e




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
()
(c)
(d)
(e)
)
(g
(h)

Money Laundering
Product Mix
Skimming Price
Gilt - edged market
Venture Capital
Forward Contract

MIS

Commercial Paper
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H 1619 HB3A/CHB3A/HC3A/CHC3A/HD3A/CHD3A

Register No.

B.Com. LL.B (Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2018,

(For the candidates admitted from 2015 to 2017)
Second Year — Third Semester

POLITICAL SCIENCE

Time : 21 hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Define Political Science and discuss its nature, scope and importance.

“In a democratic state, the legal sovereign should bow to the political
sovereign” — Comment.

Enumerate the development of Human Rights since Magna Carta 1215.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each..

Define Government and discuss about the Parliamentary form of
Government.

“International Relations is a struggle for power” — Elucidate.
Examine the impact of First World War.
PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Non-Aligned Movement.

(b) Doctrine of checks and balances.

(c) Kinds of justice.

(d) Fundamental Duties.
(e) Civil liberty.

() Kinds of equality.

(g9 Human Security.

[P.T.0]




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©
(d)

()
®
(g)
(h)

Social contract theory.
Natural Rights.

International Court of Justice.
Multipolar World. .

Hans J. Margenthau
Laissez Faire theory.
Balance of Power.

Diplomacy.
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Register No.

H 1666 HB3B

B.Com, LLL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted during 2015)
Second Year — Third Semester

FINANCIAL MARKET AND INDIAN ECONOMIC ISSUES

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Critically evaluate SEBI Regulation on Venture Capital Institutions.

2. State the different types of price quotations in the Foreign exchange
market.

3. Define poverty. Explain the causes and measurement of poverty in
India. Explain about poverty alleviation programmes in India.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4.  Explain financial service and economic environment.
5.  State the types of factoring.

6. Describe Employment Generation Programmes in India.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) What are the financial instruments?
(b) Difference between foreign currency and foreign exchange rate.
() Types of underwriters.
(d) Types of leasing.
(e) Features of Indian Economy.
() Role of MGNREGP.

(2) Industrial Policies in India.

[P.T.0.]




PART D - (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©
()
(e)
®
(g)
()

Currency swap
Future market
FERA

Letter of Credit

Risk and return
Disguised unemployment
Industrial disputes

NNP.
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H 1670 l HEBA

Register No. |

B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018,

(For the candidates admitted during 2013 and 2014)
Second Year — Third Semester
SOCIOLOGY

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Explain the importance of social institutions and hig}}light the social
significance of institutions in contemporary India.

Describe the problems and hurdles faced by women in modern India.

Define caste system. Describe the various theories related to the origin
of caste system in Indian society.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Write a note on contemporary development in deviance.

Explain the traditional characteristics of caste.

Bring out the reasons for changing family structure in India.
PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:

(a) Types of social control

(b) . Women empowerment,

(¢) Importance of kinship

(d) Characteristics of social groups

(e) Self Help Groups

() Need for National Integration

(2) Dowry Prohibition Act.

P.T.0.]




PART D — (6 x 2 = 12 marks)

8.  Answer SIX of the following very briefly.

(a)
(b}
()
(d)
(e)
)
()
(h)

Innovation
Poverty

Tertiary kin
Exogamy

Clan

Territorial group

Fraternal polyandry

Regionalism.
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Register No.

H 1671 : [ _HBBB

B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS
NOVEMBER 2018.

(For the candidates admitted during 2013 and 2014)
‘Second Year — Third Semester

FINANCIAL MARKET AND SERVICES

Time : 2% hours Maximum : 70 marks

PART A — (2 %X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Evaluate the regulatory functions of RBI.
2. Explain various types of financial services.

3. Explain the functions of credit rating firms. Discuss the rating process
followed by credit rating firms.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Differentiate capital market from money market.
5. lList out the benefits of investing in mutual funds.

6. Desecribe the listing procedure in Stock Kxchanges.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE. of the following :
(a) What is Stock Exchange? : |
() Explain the term /E-banking’.
(c) “Factoring is a source of funds” — Explain.
(d) FElucidate the advantages of leasing.
() What is open — ended mutual fund?
6 Wri{e down the agency functions of commercial banks.

(g) . Explain the concept of mutual funds.

[P.T.0.]




PART D — (6 x 2= 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©
(d)
(e
®
(8
(h)

Primary market.-
Commercial i)aper.
NSDL.

Money laundering.
Venture capital.
Credit rating agency.
CARE.

Commercial Banks.
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" Register No.

[HBCA/HB44A|

B.Com., B.L. (Hons.)/B.Com. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER. 2018.

(For the candidates admitted from 2013 to 2015)

Third Year — Fifth Semester/Second Year — Fourth Semester

Time : 21

- MARKETING MANAGEMENT

hours : Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Explain the various functions of marketing.

}

2. Elaborate the major factors influencing consumer behaviour.

3. Describe the various stages in the new product development process.

v S & o~

PART B — (2 x 7 = 14 marks)

Answer TWO of the follewing in about 300 words each.

Briefly explain the various kinds of middlemen.

Enumerate the various elements of marketing mix.

PART C — (5 x 4 = 20 marks)

7. Write short notés en FIVE of the following :

()
(b)
(c)
()
(e)
®
®

List out the benefits of marketing to the firm.
What are the methods of buying?

Discuss the five stages of buyiﬂg decision process,

What are the elements of market Segmenfation?

Explain briefly the characteristics of a product.

What are the functions of retailers?

Bring out the forms of direct advertising materials.

‘Discuss in detail the different steps involved in selliné_ process.

; [P.T.0.]



PART D — (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly.
(a) Market
(®) Marketing mix
(c) Measurability
(d) Perception
(6) Wholesaler
(f) Chain stores
(g) Packaging
(h) Advertisement copy.
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Register No.

“HWEF/HA4A/
H 1631 CHA4A/HBBF

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com., B.L. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted from 2011 to 2016)
Second Year — Fourth Semester

(HWF) — B.A., B.L. (Hons.) — (HA4A/CHA4A) — B.A. LL.B. (Hons.) —
: (HBBT) — B.Com., B.L. (Hons.)

POLITICAL SCIENCE — III (INTERNATIONAL RELATIONS)
POLITICAL SCIENCE — II (INTERNATIONAL RELATIONS)

Time : 24 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks}
Answer TWO of the following in about 500 words each.

1. Define International Relations and examine various theories of
International Relations.

2. Examine the concept of Globalisation.
3.  Critically analyse the causes of World War II.
PART B — (2 x 7 = 14 marks)
Answer TWQO of the following in about 300 words each.
4. Define Balance of Power and its various methods.
5. Examine the role of the UN. towards world peace.
6. Evaluate the importance of World Public Opinion.
PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following:
(a) Liberalism and International Relations.
(b) Neo-liberalism.

(¢) National Power.

[P.T.O.]




(a)
(b)
()
(d)
()
®

(2

(h)

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

Market
Marketing mix
Measurability :
Perception .
Wholesaler
Chain stores
Packaging

Advertisement copy.

H 1620




Register No.

H 1672 ‘ HEBH |
B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018,

(For the can’didates admitted during 2013 and 2014)
‘Second Year — Fourth Semester

INDIAN ECONOMICS AND HUMAN RESOURCE DEVELOPMENT

Time : 2% hours : Maximum : 70 marks
PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. State the issues and challenges of effective Kuman resource
_development at present and future working environment.

L Evaluate problems of land reforms in I-pdia.
3.  Explain the importance of National Income estimation in_India. .
PART B — (2 x 7= 14 marks) .
Answer TWO of the following in about 300 words each.
4. - State the economic and non-economic factors affecting growth.
5.~ Explain problems faced by the industrial labour and suggest measures.

6. Define poverty line. Explain the working of poverty alleviation
programmes in India. '

PART C — (5 x 4 = 20 marks)
s ‘ Write short notes bn FIVE of the following :
(&) Sources of agricultural credit.
(b) Social security schemes.
(¢) Land holding pattern in India.

(d). Issues and challenges of Small scale industries.

[P.T.0]




(¢) Magnitude of population explosion.
(fj Different kinds of unemployment. -
(g) Measures of Human Resource Development.

PART D — (6 x 2= 12 marks)
Answer SIX of the following very briefly :

(a) Dﬁal economy.

(b) Per capita income.

¢y MPLADS.

(d) Determinants of population.
) TAT

() Trade union.

(g) Economic plénning.

(h) Learning Domains.
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Register No.

H 1680 = _ CH%%AéljgétB/

" B.CompLL.B. (Hons.)/B.B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted during 2015 and 2016)
Second Year — Fourth Semester

MANAGERIAL ECONOMICS
Time : 24 hours Maximum : 70 marks
: PART-A (2 X 12 = 24 -marks)
Answer TWO of the following in about 500 worcis each.

1. Explain the applications of managerial economlcs intvarious aspects of
decision making.

2. Enumerate derivation of cost curve from short—run to Long—run.

3. Define monopoly. How are price and output determined under monopoly
market? :

PARTB —2x7=14 marks) :
Answer TWO of the folloWing in about 300 words each.

4.  State quantitative and qualitative techniques in demand analysis.

5. Examine short-run production function with the help of suitable
diagram. :

6. What are the dlfferences between Accounting profit and Economlc
. profit?

PART C — (6 x 4 = 20 marks)
7. Write short noteé on FIVE of the following :
(#) Composition of derivation of demand curve,
(b) Opportunity cost theory.
() Constant elasticity of supply function.

(d) Internal Economies Versus External Economies.

[P.T.0.]




(e) Kinked Demand Curve model of Oligopoly market.
(f) = Break—Even Point Analysis.

() Rules of profit maximisation for a multiproduct firm.

PART D — (6 x 2 = 12 marks)

. Answer SIX of the following very briefly.

(a) Pure coinpetition

(b) Ceteris paribus

() Demonstration Effect

(d) Sunk Cost

(e) Conditions of firms equilibrium

() Shadow price

(g) Collusion

(hy TC _ ‘ | ;




Register no. D

HBCE

B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018,
(For the candidates admitted during 2013 and 2014)

Third Year — Fifth Semester
COMPANY LAW
Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “The outstanding feature of a company is its independent corporate
existence” — Explain this statement with the help of decided cases.

2. Examine the provisions of Companies Act, 2013 dealing with ‘qualified
minority rights’,

3. Discuss the role of liquidator in winding up of a company by the tribunal.

PART B - (2 x 7 = 14 marks) ‘
Answer TWOQO of the following in about 300 words each

4. Explain the duties of directors as per the Companies Act, 2013.
5.,Define share and discuss the nature of share.
6. Examine the duties and liabilities of a promoter.

PART C - (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) Insider Trading

(b) Share Certificate

(c) Issue of Shares at discount

(d) One person company

() Share capital

(f) Dividend

(g) Pre-incorporation contract

(P.T.0.}




PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons.

8. ‘A’ was a shareholder in a company. The company’s Articles required him to
inform the directors of his intention to transfer his shares in the company
and the directors will take the said shares equally between them at a fair
value. As per the said clause he notified the directors to take his shares. But
they refused to take the shares. Decide the remedy available to ‘A’.

9. The Directors of a company issued a prospectus inviting subscriptions for
debentures and stating that the objects of the issue of debentures were to
complete alterations in the buildings of the company and to develop the
trade of the company. But the real object of the loan was to enable the
Directors to pay off debts. Relying upon the statement X’ advanced money
by taking debentures. Soon the company became insolvent. Decide the
remedy available to X’

10. ‘A’ applied for some shares in the company. His application was sent by
post and later on a letter of allotment was despatched by the company. But \
the letter never reached the applicant ‘A’. Decide whether ‘A’ is liable as a
shareholder.

-




Register No.

H 1673 HBCB/HB5A/CHB5A

B.Com., B.L. (Hons.) / B.Com. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018,

(For the candidates admitted from 2013 to 2016)
Third Year — Fifth Semester
FINANCIAL MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Describe the functions and importance of Financial Manggement.

2. A Company is expecting an EBIT of Rs. 5,00,000 per annum on
investment of Rs. 10,00,000. Company is in need of Rs. 8,00,000 for its
expansion activities. Company can raise this amount by either
undertaking Plan I or Plan II.

Plan I — 10,00,000 through issue of equity shares of Rs. 100 each.

Plan II — 5,00,000 through issue of equity shares of Rs. 100 each and
Rs. 5,00,000 through issue of debentures at 10% interest p.a.

The Tax rate is 50%. Find out the best plan.

3. Compute the market value of the firm, value of shares and the average

> cost of capital from the following information :
Net operating income : Rs. 2,00,000
Total investment : Rs. 10,00,000

Equty capitéﬂization Rate :

(a) If the firm uses no debt - 10%

(b) If the firm uses Rs. 4,00,000 debentures — 11%
(¢) Ifthe firm uses Rs. 6,00,000 debentures — 13%

Assume that Rs. 4,00,000 debentures can be raised at 5% rate of
interest, whereas Rs. 6,00,000 debentures can be raised at 6% Rate
of interest.
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PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain the factors that influence a firm’s dividend decision.
5.  From the following data, compute the operating cycle.
Raw material — Rs. 20,000, WIP — Rs. 14,000
Finished goods — Rs. 21,000 Purchases — Rs. 96,000
Cost of goods sold — 1,40,000, Sales — Rs. 1,60,000
- Debtors — Rs. 32,000 Creditors — Rs. 16,000

6. Determine market value of shares from the given data.
Case “A” Case “B”

D/P Ratio 40% 30%
Retention Ratio 60% 70%
Cost of capital 17% 18%
it 12% 12%
EPS Rs. 20 Rs. 20
PART C — (5 x 4 = 20 marks) ' }

7.  Write short notes on FIVE of the following.

(a) Calculate the Degree of Operating Leverage (DOL) and Financial
Leverage (FL) from the following information.

Output (units) — Rs. 60,000
Fixed cost —Rs. 7,000
Variable cost per unit (Rs.) —Rs. 2
Interest on borrowed capitall— Rs. 4,000
Selling price per unit " —Rs. 6

(b) X Ltd. issues 12% debentures of face value of Rs. 100 each and
realises Rs. 95 per debent}lre. The debentures are redeemable after
10 years at a premium of 10%. ‘

Calculate cost of debt (redeemable) after Tax — Assume Tax rate is
50%.

(c) Explain the significance of cost of capital.
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(d)
(e)

®
(&)

Answer SIX of the following very briefly.

(a)

(b)

()
(d)
(e)
®
(g)

(h)

List out the duties of financial manager.
Calculate EPS from the following information.

Net income : Rs. 15,00,000

Rs. 15 par value common stock outstanding on December 2015 :

Rs. 7,60,000.

Explain the importance of working capital.

Calculate cost of retained earnings :

Cost of capital - 8.67%

Average tax rate of the Shareholders — 25%

The brokerage costs amounts to 3%.

PART D — (6 x 2 = 12 marks)

Financial Management
Cost of capital.
Dividend.

_Working capital.

Operating cycle.
Types of Leverage. -
Debentures.

EPS.
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H 1674 : HBCE/HB4B/CHB4B

* B.Com.,B.L. (Hons.)/B.Com. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2013 to.2016)
Third Year - Sixth Semester/Second Year — Fourth Semestef

COST AND MANAGEMENT ACCQUNTING
Time : 2£ hours : Maximum : 70 marks
PART A — (2% 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. From the following ii;lformation prepare a cost sheet for %the month of

January.

, Rs.
Stock of raw materials on Ist January 25,000
Stock of raw materials on 31t January 26,200

.Purchase of raw materials 21,900

Carriage on purchases 1,100

Sale of finished goods 72,300

Direct wages 17,200

S Non-productive wages : 800
Direct expenses 1,200

Factory overheads : 8,300
Administrative overheads - 3,;200

Selling overheads : 4,200

2.  From the following particulars prepare stores ledger account under
FIFO method of pricing issues.

1992

Jan.
1 Opening balance 50 units at- Rs. 30 per unit
5 Issued 20 units

= RAe




1992
Jan.

7
9
19
24
27

Purchased 48 units at Rs. 40 per unit

Issued 20 units '

Purchased - 36 units at Rs. 35 per unit

Received back - 10 units out of the issue made on 9t January
Issued - 15 units

Discuss various methods of wage payment.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

Y Ltd. has four departments A, B, C and D. A, B and C are production

departments. D is a service department. The actual costs for a period

are as follows:

4

Rs.
Rent 4,000
Repairs 2,400
Depreciation 1,350
Lighting : 300

Insurance of stock 1,500

Supervigion 4,500

Power 2,700

The following data are available in respect of the four departments.

. : Dept. A Dept. B Dept. C Dept. D -
Area (sq. ft.) 300 920 180 100
No. of workers 36 24 18 1Y
Value of plant (Rs) 24,000 18,000 12,000 6,000
Value of stock (Rs.) 15,000 - 9,000 6,000 -

Apportion the costs to various departments on the most equitable
method.
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Sales — Rs. 1,00,000

Variable cost — Rs. 60,000
Fixed cost — Rs. 15,000

(a) Calculate Break even point

(b) If the selling price is reduced by 10%, what is the new Break even
point. . -

Distinguish between financial accounting and cost accounting.
- PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) Calculate the raw material consumed from the following details:

Rs.
Raw materials purchased 70,000
Sale of material scrap 1,000

Opening stock of raw materials 10,000
Closing stock of raw materials 20,000

(b) List out the objectives.of cost accounting.

(¢) List out the advantages of material control.
(d) Ascertain the labour turnover under replacement method:

Number of employees replaced during 2016 = 1,000
Average number of employees during 2016 = 8,000.

(e) Calculate wage due to a worker from the following information:

Normal hours in a week — 44
Actual hours worked — 50

- Normal rate per hour — Rs. 1.25
Overtime rate — 200% of normal rate.

() Annual requirements — 1,600 units

. Cost of material.per unit — Rs. 40
Ordering cost per unit — Rs. 50
Carrying cost — 10% of inventory value.
Find out EOQ.

(g) What is Stores Ledger?

3 H 1674




PART D — (6 x 2 = 12 marks)

Answer SIX of the following, very briefly. '

(a)

(b)

{c)

ey
(e)

3]
(g)
(h)

From the following data calculate P/V ratio.
Sales — 4,00,000, Variable cost — 3,00,000, Fixed cost — 40,000.

Find out variable cost
Sales - Rs. 50,000, Fixed cost — Rs. 10,000, Profit — Rs. 5,000,

State the basis of apportionment of the following service
department expenses. :

(i) Rent (i) Indirect material.

What is BEP? :

Calculate the earnings of a worker under Halsey plan.
Hourly rate — Rs. 3 :
Standard time — 16 hours

Time taken — 12 hours.

What is meant by normal idle time?
What is EQQ?

What ig cost sheet?
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Time : 21

(a)
(b)
(©
(d)
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B.Com.,

Register No.

HBCG/HB5B/CHB5B

B.L. (Hons.) / B.Com., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2018.

(For the candidates admitted from 2013 to 2016)
Third Year — Sixth Semester / Fifth Semester
PRACTICAL AUDITING

hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the objectives of Auditing.

9. An auditor is expected to study various documents before commencing
audit of a company — Discuss.

! xplain the audit of fixed assets.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4, Distinguish between Auditing and accountancy.
> 5. What are the duties of an auditor relating to specific reserves?

6. What are the powers of a company auditor?

PART C — (6 x 4 = 20 marks)

7.  Write short notes on FIVE of the following.

State the purpose of conducting operational audit.
Who can be appointed as an auditor?
Txplain the features of a Qualified Report.

What are the disadvantages of computer based system?
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(e) Distinguish between internal check and internal control.

(f) Name the various ledger that comes under the scrutiny of an
auditor.

(g) What are the advantages of auditing? '
PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.
(@ Audit programme.

(b) Internal audit.

(¢) Reserves and Provisions.

(d) Valuation of assets.

(e) Removal of auditor.

() Vouching of Trading transactions.
(g) Working papers.

(h) Wasting assets.
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Register No. LJ_J_' ] l ']

B B A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS
NOVEMBER 2018.

(For the candidates admitted during -2015).
Third Year — Sixth Semester

PUBLIC FINANCE AND IT LAW

- Time : 24 hours ' Maximum : 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following.in about 500 words each.
: }
Discuss the scope of Public Finance. What is the role of public finance in
the economic development of a country?

Explain Peacock-Wiseman hypothesis of public expenditure.

State the provisions of the Fisecal Responsibility and Budget
‘Management Act. :

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Explain Fiscal Neutrality (or) Principles of Equal Distribution of Tax
Burden. : ,

Fxplain the Canons of Taxation.
Describe the functions of the Finance Commission.

PART C — (5 x 4 = 20 marks)

 Write short notes on FIVE of the following :

(a) Prof. Dalton’s view on the principle of maxnnum social advantage,
~ theory:

(b) Problems of Double Taxation.
(¢) Explain Wagner s hypothesis of public expend1ture
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3.

(d)

(e)
(0
()

Answer SIX of the following very briefly :

(a)
(b)
(©)
(d)
(e)
)
()
(h)

Point out the areas of conflict in

and states.

What is zero based budgeting?
Comparison of Direct and Indirect Taxes.
Effects of Public debt.

Public Goods
GST

Direct Tax

PART D — (6 x 2 = 12 marks)

Incidents of Taxes

Public Debt Management

Planning Commission

Fiscal Policy

Tax evasion.

federal finance between the centre
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H 1681 HC5B/CHC5B

B.B.A, LL.B. (HHons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted during 2015 and 2016)
Third Year — Fifth Semester
FUNDAMENTALS OF MARKETING MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

What are the core concepts of marketing? Explain in detail with
examples.

Discuss the various kinds of channels of distribution and their functions.
Enumerate the stages involved in New Product Development Process.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Mention few competitors for a product of your choice and list out the
competing product qualities that you wish your product to have.

Explain the factors that affect the pricing decisions of a company.

What are the psvchological factors that influence buying behaviour of
consumers?

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) What are the challenges that a marketing manager faces while
introducing a new product?

(b) Elaborate the functions performed by distribution channels.

(¢) How do you foresee the future of online marketing?
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(d) Explain the importance of Marketing information system to the
company and its understanding of the market-place.

(¢) What are the reasons for the growth of service sector?

(f) In the future, can CRM be applied in all the business environment?
Explain.

(g) Explain any two examples of advertiging strategies that failed.

PART D — (6 x 2= 12 marks)

Answer SIX of the following very briefly :
(a) Intangibility of services

(b) Industrial markets

(¢) Substitute products

(1) Marketing Mix

(e) STP

(f) Psychological Pricing

() Test Marketing

(h) Buyer Behaviour.
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Register no.

HC5A/CHC5A

B.B.A.LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.
(For the candidates admitted during 2015 and 2016)
Third Year — Fifth Semester
STRATEGIC MANAGEMENT

Time: 2% hours * Maximum: 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. What are the Micro and Macro environmental strategic factors that affect
a business organisation? Explain with examples.

2. Explain in detail the generic competitive strategies of Michael. 5. Porter.
3. CSR is an investment strategy — Justify.

PART B - (2 X 7 = 14 marks)
Answer TWO of the following in about 300 words each.

ﬁkEXplain the basic elements of strategic Management Process.
5. What is Portfolio analysis? Explain its steps.
6. Explain some attributes of successful entrepreneurs.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Qualities of a successful strategic manager.
(b} Steps in Control Process.
(c) Corporate ethical responsibility.
(d) Measures of effective corporate governance.
(e} Measures for improving effectiveness of board of directors.
(f) Value chain analysis - Meaning and activities.

(g) Competitive strategies.
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PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:

{a) Strategy

(b) Vision

(c) Types of business policies.

(d) BCG Matrix.

(e} Functional strategy.

() Internal Scanning.

(g) Corporate Culture.

(h) Strategic Information System.

e
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HC4A/CHC4A

H 1679

B.B.A. LLB. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted during 2015 and 2016)
Second Year — Fourth Semester
COMPUTER FOR MANAGEMENT AND MANAGEMENT
INFORMATION SYSTEM (MLS)

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. What is Word Processor? Describe the important features of Word
Processor?

2.  Explain the various steps involved in developing Menu Driven
applications using Ms—Access query language.

3.  What is meant by MIS? How does MIS support for Planning, Organizing
and Controlling in business operations?

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Explain about the various applications of Internet.
What is Electronic Data Interchange? List the advantages of KDL

Describe on Decision support System.

PART C — (b x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Any four financial formulas in Ms-Excel.
(b) Functions of Business Process Outsourcing.
(¢) Purpose of Indexing and Searching techniques in DBMS
(d) Information System Audit.
(e) Absolute and Relative Cell reference.
() What are the roles of HRIMS?

(g) Input and Output devices-Discuss.
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PART D — (6 x 2= 12 marks)

Answer SIX of the following very briefly.

(a)
(b}
(c)
(d)
(e)
®
()
(h)

Any two Text Formatting tools in Word Processing.
List the various phases in SDLC.

[P Address

Define FEDI

Types of Management Information System

How will you Hide and Unhide a worksheet?
Benefits of DBMS.

What are the differences between Internet and Intranet?
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H 1678 . HC3B/CHC3B

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted from 2015 to 20 17)
Second Year — Third Semester
FINANCIAL AND MANAGEMENT ACCOUNTING
Time : 21 hours ' Maximum : 70 marks
PART A — (2 % 12 = 24 marks)
Answer TWO of the following in about 500 words egch.
1. Briefly explain the concept and convent.ions of accounting.

2.  The following balances are extracted from the books of Kautilya and Co.
on 31st March, 1998. You are required to prepare the Trading and
Profit/Loss account and a Balance sheet as on that date.

Rs. : Rs.

Opening stock 500 Commission (Cr.) A1 BIEEH
B/R 2,250 Returns outward 250
Purchases . 19,500 Trade expenses 100
Wages 1,400 Office fixtures 500
Insurance 550 Cashin hand 250
Sundry debtors 15,000° Cash at Bank 2,375
Carriage inward 400. Rent 550
Commission (Dr.) 400 Carriage outward 725
Interest on capital 350 Sales 25,000
Stationery 225 B/P 1,500
Returns inward 650 Creditors 9,825
Capital 8,950

The closing stock was valued at Bs. 12,500
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3. Record the following transactions in the Journal and post them into

ledger and prepare a Trial balance.

el
3rd .
4th
5th :
7th ;-
9th ;
i
[l
iZth :
14th ;
15tk ;
16th -
1’7“-l 2
LS
11k
20:

Neel started business with a capital of Rs. 80,000
Bought goods from-Karl on credit Rs. 20,000
Sold goods to Tarl Rs. 25,000

Cash purchases Rs, 25,000

Cash sales Rs. 15,000

Goods returned to Karl Rs, 2,000

Bought furniture for Rs. 15,000

Cash paid to Karl Rs. 12,000

Goods returned by Tarl Rs. 3,000

Goods taken by Neel for personal use Rs. 3,000
(Clash received from Tarl Rs. 12,000

Took loan from Parl Rs. 30,000

Salary paid Rs. 5,000

Bought stationery for Rs. 1,000

Amount paid to Parl on loan account Rs. 18,000
Interest received Rs. 4,000

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4. Explain the factors influencing capital budgeting decision.

5. TFrom the following balances prepare trading and profit/loss account.

: Rs.

Purchase 1,50,000
Stock on 1.4.2011 20,000
Wages 1,00,000
Fuel and power 30,000
Factory lighting 2,000
Sales 5,00,000

Stock on 31.03.2012 27,000

2 H 1678




Salaries 70,000

Discount allowed 5,000
Adv.ertising 50,000
Office expenses 40,000
Discount received 3,000

From the following information relating to ‘A’ Litd., prepare Funds flow
statement.

Rs. Rs. Rs. Rs.

Share capital 300 400 Cash 30 90
Reserve 100 50 Accounts receivables 1056 150
Retained Earnings 30 60 Inventories 150 195
Accounts payable 45 135 Fixed assets 190 210

475 645 - 475 645

Additional information ;

Depreciation written off during the year was Rs. 15,000

PART C — (b x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) The Delta Company 1s planning to purchase a machine known as
machine X. Machine X would cost Rs. 25,000 and would have a
- useful life of 10 years with zero salvage value. The expected annual

cash inflow of the machine is 10,000. Compute using payback

period method.

(b) Rs.
Opening stock at the beginning 20,000
Purchase of goods 2,48,000
Direct expenses 54,000

Unsold stock at the end of the accounting peried 36,000
Value of stock used for other purposes 14,000

Calculate the value of cost of goods sold.

3 H 1678
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(©

(d)
(e)
(6

(g)

Calculate goodwill according to Super profit method with 3 years

purchase.

Year 2005 —- Rs. 10,000; Year 2006 — Rs. 12,250 ;
Year 2007 — Rs. 7,450 ; Year 2008 — Rs. 5,400.
Differentiate Trial balance from Balance sheet.
What are the types of capital Budgeting Decisions?

A Ltd. has total liabilities of Rs. 9,37,500 and a debt to equity ratio
of 1.25. Calculate shareholders equity of ‘A’ Litd. :

What are the objects of financial statements analysis?

PARTD —(6x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©
(d)
(e)
®
(8)
()

Payback period
Sacrificing ratio
Debt—equity ratio
IRR.

Ledger.

Book keeping.
Financial statements.

Partnership.

4 H 1678

S




—

Register No.

H 1677 HC2B/CHC2B

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

~ (For the candidates admitted from 2015 to 2017)
First Year —- Second Semester

HUMAN RESOUR CE MANAGEMENT AND ORGANISATIONAL
BEIAVIOUR

Time : 23 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Critically evaluate the process and techniqﬁes of job analysis. Explain
the content and methods of job design.

Describe techniques of Recruitment and its sources and explain
selection process.

What are the methods of performance appraisal and describe job
evaluation method? '

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
What are the objectives and process of Human Resource Plannihg?
Explain the features and the perceptual process of perception.
Describe discipline and grievance in HRM.
PART C — (5 x 4= 20 marks)
Write short notes on FIVE of the following :
(a) Characteristics of Human Resource Management.
(b) Need and importance of Human Resource Policies.
(©) Objectives of Wage and Salary Administration.

(1) Maslow’s theory of motivation.
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(¢) Emerging trends in Human Resource Management.

() Determinants of personality.

(g) Concept of organizational culture.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a) Job Evaluation.

{b) Placement.

{c) Demotion.

(d) Reinforcement.

(e) dJob Enrichment.

() Career planning.

(g) Learning. ;
(h) Group Dynamics.
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H 1667 \/ HBAF/HB2A/CHB2A/HC2A/

B.B.A.LL.B. (Hons.)/B.C.A.LL.B.(Hons.)/B.Com., B.L. (Hons.)/
B.Com., LLB. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted from 2011 to 2017)
Tirst Year — Second Semester

BUSINESS ENGLISH
Time : 2% hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. What are the major advantages and disadvantages of globalization?

2. What are considered as barriers to communication? Discuss in detail
language as a barrier to communication.

3. Explain the important functions and duties of a company secretary in an
organization. :

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4.  Write a letter of complaint to the wholesaler statiﬂg that the order you
placed for the goods is different in quality from that you received.

5. What are the seven ‘Cs of style in a business letter?

6. Bring forth the relevance and importance of Agenda for meetings.

_ PART C — (6 x 4 = 20 marks)
7. Write short notes on FIVE of the following :
(a) Explain the productive skills in language acquisition.
(b) Define bank correspondence and its types.
(¢) What are the essential qualities of a company secretary?

(d) List out the characteristics of 2 good report.
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(e)
®
(g

Bring forth the essential things required for report writing.

Explain the layout of an interview letter.

Elucidate the modern forms of communication.

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

()
()
(c)
(d)

©

()
()
(h)

Proxemics.

Explain unstructured interview.
Insurance correspondence.
Purpose of issuing circulars.
Inte_rnet and E-mail.
Acknowledgement letter.

LPG.

Horizontal communication.
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H 1676 HC1C/CHC1C

Register No.

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted from 2015 to 2018)

First Year — First Semester

BUSINESS MANAGEMENT AND ETHICS

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
}
Define Leadership. Explain the various Leadership styles in
management.

Discuss the various steps involved in the process of planning.

Explain the general principles of management by Henry F ayol.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 Words each.

Explain the exception to the rule ‘Caveat Emptor’.

Discuss the methods of securing effective co-ordination.

Briefly describe the contributions of Kautilya related to management.
PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) Briefly describe ‘functional foremanship’.

(b) What is management by objectives?

(¢) Management by Fxception.

(d) Write a note on ‘consumerism’.

(e) Types of delegation.

(f) Explain the various kinds of policies.

(g) Brainstorming.
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PART D -- (6 x 2 =12 marks)

Answer SIX of the following very briefly:

()
(b)
(©)

(d)
(e)
®

(g)
(h)

Strategy.

Authority.
Objectivity in trait.
Figurehead Role.
Formal organisation.
Training.
Administration.

Co-operative buying.
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H 1684 HD2B/CHD2B

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted during 2015, 2016 and 2017)
First Year — Second Semester
PROGRAMMING IN ‘G’ AND ALGORITHMS

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words dach.
1.  Classify data types and explain with an example each.
9.  Analyze time and space complexity for an algorithm. Give example.
3.  Define Files. How data files are implemented in C?
PARTB — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
> 4. Describe the designing phase of an algorithm.
5. Explain bubble sort with an example.
6. Describe array of strings with an example program.

PART C — (6 x 4 = 20 marks)

7. Write short notes on FIVE of the following :

(a) Differentiate between continue and goto statement, with an
example each.

(b) Define Union.
(¢) Why Dijkstra algorithm is used to find shortest path?
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(d)
(e)
i)
()

How conditional statements are implemented?
Why pointers are used in data files?
List and explain any four Graph terminologies.

Define Array. Explain different types of an array with an example.

PARTD — (6 x2=12 marks}

Answer SIX of the following very briefly :

()
(b)
(©
(d)
(e)
)
(8)
(h)

C is middle level language - Justify?
Define algorithm. h

Write the postfix for the following infix expi‘ession A+B*»CID-E.
Comma operator.

Compare BFS and DFS.

How Insertion sort works?

Define Self-Referential structure. :

What are case analyses of an algorithm?
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Register no. D

HD3B/CHD3B

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.
(For the candidates admitted from 2015 to 2017)

Second Year — Third Semester

OPERATING SYSTEMS AND MICRO PROCESSOR AND ITS
APPLICATIONS
Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

—

. Explain the different CPU scheduling algorithms in detail with examples.
2. Describe the various models of Interprocess communication in detail.
3. Explain the architecture of Intel 8085 with the help of a block diagram.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Discuss how logical address is translated into physical address using
paging mechanism.

5. -Qeﬁne free space management. [llustrate how it is implemented.

6. List the addressing modes supported in 8085. Give two sample
Intructions for each mode.
PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Process Control Block.
(b} Real time Operating Systems.
(c) Deadlock Detection.
(d) Thrasing.
(e) File access Methods
(f) Instruction format of 8085.

(g) Counters.
(P.T.O.)




PART D - (6 x 2 = 12 marks)
8. Answer SIX of the following very briefly:
(a) Define Multiprogramming.
(b) What is meant by System call?
(c) What do you understand by Mutual Exclusion?
(d) Mention the advantages of segmentation.
(e) List down the file allocation methods.
() Define interrupts and list their types.
(g) How DMA is initiated?
(h) List down the arithmetic instructions supported by 8085.
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H 1685 ' HD4A/CHD4A

B.C.A. LL B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

* (For the candidates admitted during 2015 and 2016)
- Second Ye‘ar — Fourth Semester

PRINCIPLES OF SOFTWARE ENGINEERING AND SOFTWARE
TESTING

Time : 2% hours . Maximum : 70 marks

_ PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words eatch.

1.  Describe the importance of Software Engmeermg" What are the steps
that should be taken under the process of developing a software system.

2.  What is Transaction flow testing? Explain Transaction Flow Testing
Techniques in detail. -

3.  What. is the need for cost estimation in the'software development
process? List out the cost factors and describe .the various cost
egtimation techniques. :

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Compare and contrast the functions of testing and debugging.

Dlscuss on path Instrumentatwn

& op Y

,Explam the various activities involved in 1 the planning and development '
process.

: PART C —(Bx4=20 marks)
7 Write short notes on FIVE of the following :

(a) What is Software Engineering? Discuss about the characteristics of
" the software engineering.

(h) Formal Technical Review.

(¢) Discuss on achievable path

[P.T.O]




(@ Data Flow Diagram is the better tool to describe the operational
flow of the software—Discuss. : :

(¢) Explain the work break down structure of the process oriented
project.

(f) Software requirements specification.

(g) Define Software Quality. Explain the various factors involved in
the software quality assurance.

PART D — (6 x 2 = 12 marks)

8.  Answer SIX of the following very briefly :
(a) Brief on Verification apd Validation.

(b) Write short note on Test plan design.

~ (¢) List the various design notation used in the software design.
(d) Types of Bugs.
(e) DBenefits of Prototyping. :
(f) Write note on Path Testing Criteria.
(g) Whét is Acceptance Testing?

(h) Software Maintenance
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H 1686 : HD4B/CHD4B

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(Fbr the candidates admitted during 2015 and 2016)

Second Year — Fourth Semester

RELATIONAL DATABASE MANAGEMENT SYSTEM (RDBMS)
Time : 21 hours | l Maximum : 70 marks
PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

¢

1. Discuss about the components of DBMS.

2. What is the need for Concurrency Control? Explain the various
concurrency control protocol. '

3.  What iz Relational Model? Discuss on Relational Algebraic Operations
with an example.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

What are Views? List out the benefits of creating Views in Database.

Define DBA. What are the roles and responsibilities of Database
Administrator? : ;

Define Hashing. Discuss on Dynamic Hashing.
PART C—(Bx4=20 maﬂcs)
 Write short notes on FIVE of the following :
(a) Distributed Database.

(b) Functional dependencies.
(¢) Write the purpose of the SAVEPOINT technique.
(1) Write the differences between DDL and DML.

[P.T.0]
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(e)
6
(g)

Database Security and Privacy.
Various Levels of RAID - Discuss.

Explain BCNF with an example.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly:

()
(b)
(c)
(d)

(e)

M
(&)
)

What is RDBMS?

What is Normalization?
Embedded SQL. \
Brief on Integrity Constraint.

Properties of Transaction.
Transaction Serializability.
Primary and Foreign Key.

Components of E-R model.

H 1686

—




Register No. |

H 1687 HDSA/CHqu

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted during 2015 and 2016)
Third Year — Fifth Semester

OBJECT ORIENTED PROGRAMMING LANGUAGE — JAVA AND
WEB TECHNOLOGY

Time: 21 hours - Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

B

Answer TWO of the following in about 500 words each.

1. What is meant by scripting? Differentiate between client side and server
side scripting.

2. THow does object oriented programming differ from procedural
programming. Explain the fundamental concepts of object oriented

programming.

3.  Reusability helps in faster development of programs — Justify the given
statement and explain how we achieve reusability concept in Java with
a suitable example.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

4,  Write a Java Program to find the value of n!, where n is a given integer.
(Hint : n!l=n*m-1D)*............ *1)

5. Explain Life Cycle of a thread. How java implements multithreading

concept?

6. What is HTML? Explain the fundamental elements of HTML with an

example.

[P.T.O.]




PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a)
(b)
(c)

(d)

(e)
@
(&)

Discuss on type casting with examples.
Explain about creation and accessing a package with examples.

Explain the usage of any two commonly used string methods with

examples.

How multiple inheritance is achieved in Java? Explain with a
suitable example.

Explain about the different types of frame tags used in HTMIL..
DOM: Event Handling.

Elucidate the importance of access Specifiers.

~  PARTD — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©
(d)
(e)
@
(8)
(h)

Write short notes on: Data types in Java.
Define command line argument.

Write short notes on: Common Java Exceptions.
Dynamic Binding.

Intrinsic event handling.

Brief on character stream classes.

Operators supported by Javascript.

Brief on default constructor.
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H 1688 ‘ HD5B/CHD5B

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted during 2015 and 2016)
: Third Year — Fifth Semester
COMPUTER NETWORKS AND NETWORK SECURITY

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words eac’h.

1.  Discuss about the various design issues in the network layer. Explain
any two routing algorithms with an example. :

9 What is transmission medium? Explain various guided and unguided
transmission media.

3. Explain the simplified model of symmetric encryption.
PART B — (2 x 7 = 14 marks)
Answer TWO of thé following in about 300 words each.
4. Define Networking. Describe in detail, classifications of network.
5. Describe in detail about network security.

6. Explain adaptive flow controlin detail. List out the benefits of adaptive
flow control.

PART C — (5 x 4 = 20 marks)
7 Write short notes on FIVE of the following :

(a) Line configuration.
(b) Concept of redundancy in error detection and correction.
(¢) Principles of stop and wait protocol.

(d) Internet Transport Protocol.

(2T 0]



(e)

69
(g)

TFor n devices in a network, what 18 the number of cable links
necessary for mesh, ring, bus and star networks.

RIP algoritbm with a simple example.
Public Key encryption using RSA algorithm.

PARTD —(6x2= 12 marks)

Answer SIX of the following very briefly :

(a)

(b)
(c)

(d)
(e)
)

(&
(h)

List the layers in the OSI model that handle end to end
connections.

List the advantages of Star Topology.

Tn the Hamming code for a data unit of m bits, how do you compute
the number of redundant bits ‘'t needed?

Define Burst Error.

Purpose of hash function in cryptography.
Difference between a router and gateway.
Electronic Mail gecurity.

What are the four main properties of HTTP?
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Register No.

B.C.A. LL:B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2018.

(For the candidates admitted during 2015)
Third Year — Sixth Semester
INFORMATION SECURITY AND DIGITAL FORENSICS

Time : 2% hours . Maximum : 70 marks

1

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
: i

" Describe in detail about Steganography technology in detail. How is it

used in digital forensics?

Elaborate on Intrusion Detection System and how it mvolves n
Network contamination?

Explain how Forensic Tool Kit is used during the 1nvest1gat10n process
with examples.

PART B — (2 x 7.= 14 marks)
Answer TWO of the following in about 300 words each,

What do you understand about Password Cracking — Explain.

Write an explanatory note on Android Forensics and discuss its
procedure for handling an Android device.

Describe the nature and scope of Cyber Security Laws which are in force
in India.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following : :
(a) Expiain the steps and techniques involved in Money Laundering.
(b) TIP-tracking and E-Mail Recovery. :
(© Hacking — Explain in detail.
(d).. Explain Varioué_types of Wireless Network.
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(e)
()
(g)

Answer SIX of the following very briefly.

(a)
(b)
(©
(d)
(e)
H

(2

(b)

Explain AT Command Set.
The challenges in Evidence Handling.
Types of Cyber Crime — Explain. 1

PART D — (8 x 2 = 12 marks)

Define Internet Infringement.

What is Data Recovery?

What are Malicious Codes?

What are the types of viruses?

What is NASSCOM? _

Explain any two network devices.

What are the criteria that must be met by the shipping container

while shipping the evidence? ;

What is Digital Signature?
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